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36. Which of the following words can be used as a verb?

] mobile
L1 sugar
] sand

] media

Answer and Explanation:
{74 Correct Answer: Sugar, Sand

+ Explanation:
<~ Verbs are action words that describe an action, occurrence, or state of being. Some nouns
can also function as verbs in certain contexts.



+ Analysis of the options:

Mobile (){) — "Mobile" is primarily used as a noun (a phone) or an adjective (able to
move), but it is not commonly used as a verb.

Sugar (["4) — "Sugar" can be used as a verb, meaning to add sugar to something
(e.g., She sugared her coffee).

Sand ([74) — "Sand" can be used as a verb, meaning to smooth or polish with
sandpaper (e.g., He sanded the wood before painting).

Media (){) — "Media" is a plural noun (of "medium") and is not used as a verb.

+ Examples of usage as verbs:

Sugar — He sugared his tea before drinking it.
Sand — She sanded the surface before applying paint.

37. In which sentence like used as a preposition?

[ He likes to eat fish

1 He laughs like his father does

[ Like minded people are necessary to start a business
1 He climbed the tree like a cat

Answer and Explanation:

{74 Correct Answer: He climbed the tree like a cat

+ Explanation:

<~ The word "like" can function as a preposition, conjunction, adjective, or adverb
depending on the context.

+ When "like" is a preposition:

A preposition shows the relationship between a noun or pronoun and another word in
the sentence.

"Like" as a preposition means "similar to" or "in the manner of".

It is followed by a noun or pronoun (not a clause with a verb).

+ Analysis of the options:

He likes to eat fish (){) — "Like" here is a verb (not a preposition).

He laughs like his father does (){) — "Like" here is a conjunction because it
connects two clauses ("he laughs" & "his father does").

Like-minded people are necessary to start a business (){) — "Like-minded" is an



adjective modifying "people”.
e He climbed the tree like a cat ([74) — "Like" is a preposition because it introduces the
noun "a cat", showing similarity in action.

+ Example sentences using "like" as a preposition:
v/ She runs like a champion.

V/ He talks like a teacher.

Vv They danced like professionals.

38. He died following the incident.

L1 adjective
(1 adverb

1 noun

[ preposition

Answer and Explanation:
{74 Correct Answer: Preposition

+ Explanation:
In the sentence "He died following the incident," the word "following" is used as a
preposition because it means "after" and introduces the noun phrase "the incident".

+ Analysis of the options:

e Adjective (){) — "Following" can be an adjective when it describes a noun (e.g., The
following day), but here it does not describe a noun.

e Adverb (){) — "Following" does not modify a verb in this sentence; rather, it connects
the phrase "the incident” to "died".

e Noun (){) — "Following" can be a noun (e.g., He has a large following), but not in this
sentence.

e Preposition ([74) — "Following" is a preposition here because it introduces the noun
phrase "the incident"” and functions similarly to "after".

+ Example sentences where "following" is a preposition:
v/ Following the storm, many houses were destroyed.

v/ He left the company following the disagreement.

v/ There was silence following the announcement.



39. Writing a diary is a very good practice to develop writing skKill.
The underlined part is a/an -

[ verbal noun
L] adjective phrase
L1 adverbial phrase
1 noun phrase

Answer and Explanation:
74 Correct Answer: Verbal noun

+ Explanation:

In the sentence "Writing a diary is a very good practice to develop writing skill," the
underlined part "Writing a diary" functions as a verbal noun because "Writing" is derived
from a verb but acts as a noun in the sentence.

+ Analysis of the options:

e Verbal noun ([74) — "Writing" is a gerund (a verb ending in "-ing" that functions as a
noun). It acts as the subject of the sentence, making it a verbal noun.

e Adjective phrase (){) — The underlined part does not describe a noun, so it is not an
adjective phrase.

e Adverbial phrase (){) — The underlined part does not modify a verb, adjective, or
another adverb, so it is not an adverbial phrase.

e Noun phrase (){) — Although "Writing a diary" functions as a noun phrase, it
specifically contains a gerund, making it a verbal noun rather than a general noun
phrase.

+ Example sentences with verbal nouns:
v/ Swimming is my favorite hobby.

v/ Reading books improves knowledge.

v/ Cooking takes patience.

40. Fill in the blank with the correct word:_ he lay on the ground
groaning.

LI Injured

U Injuring

L1 Be injured

L] Having been injured



Answer and Explanation:
(74 Correct Answer: Having been injured

+ Explanation:
The correct sentence is:
<~ "Having been injured, he lay on the ground groaning."

This sentence uses a perfect participle phrase ("Having been injured”) to indicate that the
action of getting injured happened before the main action (lay on the ground groaning).

+ Analysis of the options:

e Injured (){) — While "injured" can function as an adjective (e.g., The injured man lay on
the ground), it does not fit here because the sentence requires a participial phrase.

e Injuring (){) — "Injuring" is the present participle of "injure," which suggests an ongoing
action. This does not fit since he was already injured before lying down.

e Be injured (){) — "Be injured" is grammatically incorrect in this context because the
sentence needs a past participial phrase to indicate a completed action.

e Having been injured (["4) — This is the correct answer because it properly shows that
the injury preceded the action of lying on the ground.

+ Example sentences with "Having been + past participle":
v/ Having been warned, he decided not to go outside.

v/ Having been promoted, she moved to a new office.

v/ Having been delayed, the train arrived late.

Find out the meaning of the following phrase:

41."By and large" means?

L] very large

L1 far away

[ the largest one
[J on the whole

Answer and Explanation:
74 Correct Answer: On the whole

+ Explanation:
<~ The phrase "By and large" is an idiom that means "on the whole" or "generally



speaking.” It is used to indicate a general summary or overall view of something.
+ Analysis of the options:

Very large (){) — Incorrect, because "by and large" does not refer to size.

Far away (){) — Incorrect, because the phrase does not indicate distance.

The largest one (){) — Incorrect, because "by and large" does not mean the biggest.
On the whole ([74) — Correct, because "by and large" means "generally" or "for the
most part.”

+ Example sentences using "By and large™":

v/ By and large, the meeting was a success.

v/ By and large, he is a good student, though he sometimes gets distracted.
V/ The weather in this country is, by and large, quite warm.

42. Choose the best alternative for the underlined. He went back
on his promise of voting for me

1 forgot

U] reinforced
1 support
L] Withdrew

Answer and Explanation:
"4 Correct Answer: Withdrew

+ Explanation:
<~ The phrase "went back on" means "to break or withdraw from a promise, agreement,
or commitment."

+ Analysis of the options:

e Forgot (XX) — Incorrect, because "went back on" does not mean he forgot, but rather
that he deliberately broke his promise.

e Reinforced (){) — Incorrect, because "reinforced" means to strengthen, which is the
opposite of breaking a promise.
Support (){) — Incorrect, because breaking a promise does not mean support.
Withdrew ([74) — Correct, because "went back on his promise” means he withdrew
or broke his commitment.

+ Example sentences using "go back on":
v/ He went back on his word and refused to help me.
v/ The company went back on its agreement with the workers.



v/ She promised to lend me money, but she went back on her word.

43.’Let the cat out of the bag' means -

U] . bring out a cat from a bag
L1 let a cat move at large

[] take a pre-cautious steps
L] repeat secret carelessly

Answer and Explanation:
{74 Correct Answer: Reveal a secret carelessly

+ Explanation:
<~ "Let the cat out of the bag" is an idiom that means to accidentally reveal a secret or

hidden information.
+ Analysis of the options:

Bring out a cat from a bag (){) — Incorrect, as the phrase is not literal.
Let a cat move at large (){) — Incorrect, because the phrase is metaphorical, not
about an actual cat.

e Take a pre-cautious step (){) — Incorrect, as the phrase refers to revealing a secret,
not taking precautions.

e Reveal a secret carelessly ([74) — Correct, because "let the cat out of the bag" means
to disclose information that was meant to be kept secret.

+ Example sentences using "Let the cat out of the bag":

v/ | wanted to keep my promotion a secret, but John let the cat out of the bag.
v/ She let the cat out of the bag about their surprise wedding.

v/ Don't let the cat out of the bag about the party—it's supposed to be a surprise!

44. He is a man to depend on.

1 a noun phrase

L1 an adverbial phrase
[ a prepositional phrase
1 an adjective phrase

Answer and Explanation:



{74 Correct Answer: An adjective phrase

+ Explanation:

<~ The phrase "to depend on" in the sentence "He is a man to depend on" functions as an
adjective phrase because it describes the noun "man" by providing additional information
about him.

+ Analysis of the options:

A noun phrase (){) — Incorrect, because the phrase does not act as a noun.
An adverbial phrase (){) — Incorrect, because the phrase does not modify a verb,
adjective, or adverb.

e A prepositional phrase (){) — Incorrect, because it does not begin with a preposition;
instead, it is an infinitive phrase.

e An adjective phrase ([”4) — Correct, because "to depend on" describes "man,"
making it an adjective phrase.

+ Example sentences with similar adjective phrases:

Vv She is a person to trust. (The phrase "to trust" describes "person.")

V/ This is the book to read before the exam. (The phrase "to read before the exam" describes
"book.")

Vv He is the right friend to rely on. (The phrase "to rely on" describes "friend.")

45. His dream that he will be a B.C.S cadre finally came true. The
underlined part is

[ an adjective clause

1 an independent clause
[] a co-ordinate clause
1 a noun clause

Answer and Explanation:
74 Correct Answer: A noun clause

+ Explanation:

<~ The underlined part "that he will be a B.C.S cadre" is a noun clause because it acts as
the object of the noun "dream" in the sentence "His dream that he will be a B.C.S cadre
finally came true.”

+ Analysis of the options:

e An adjective clause (){) — Incorrect, because although the clause provides additional



information about "dream," it functions as a noun clause rather than an adjective
clause.

e Anindependent clause (){) — Incorrect, because this clause cannot stand alone as
a complete sentence.

e A co-ordinate clause (){) — Incorrect, because co-ordinate clauses are joined by
coordinating conjunctions (e.g., "and," "but," "or").

e A noun clause ([74) — Correct, because "that he will be a B.C.S cadre" acts as the
object of "dream" and answers the question "What was his dream?"

+ Example sentences with noun clauses:

Vv | believe that she will win the competition. (Noun clause as the object of "believe")

V/ The fact that he passed the exam surprised everyone. (Noun clause as the object of "fact")
v/ Her hope that she would get the job was shattered. (Noun clause modifying "hope")

46. Which of the following is a correct simple sentence?

L1 All that glitters is not gold

L1 All's well that ends well

1 Do or die

L1 | saw an old man walking past me

Answer and Explanation:
{74 Correct Answer: | saw an old man walking past me

+ Explanation:
A simple sentence contains only one independent clause, meaning it has a single subject
and a single predicate and does not include any subordinate or coordinate clauses.

+ Analysis of the options:

e All that glitters is not gold (){) — Incorrect, because "that glitters" is a relative
(adjective) clause, making it a complex sentence.

e All's well that ends well (){) — Incorrect, because "that ends well" is a relative
clause, making it a complex sentence.

e Do or die ()X) — Incorrect, because it consists of two imperative clauses joined by "or",
making it a compound sentence.

e |saw an old man walking past me ([’4) — Correct, because this sentence has only
one independent clause and no subordinate or coordinate clauses, making it a simple
sentence.

+ Example sentences with simple structures:
v/ She loves reading novels.



v/ The sun sets in the west.
v/ He runs fast every morning.

47. Which is the correct complex form of the sentence? 'A corrupt
man cannot win the respect of others/'

1 A man who is corrupt cannot respect

1 A man does not respect others who are corrupt

1 A man who can win the respect of others cannot be corrupt
1 A man who is corrupt cannot win the respect of others.

Answer and Explanation:

{74 Correct Answer: A man who is corrupt cannot win the respect of others.

+ Explanation:
A complex sentence consists of one independent clause and at least one dependent
(subordinate) clause.

<~ The given simple sentence:
"A corrupt man cannot win the respect of others."

To convert this into a complex sentence, we can expand the noun phrase "A corrupt man"
into a relative clause using "who":

v "A man who is corrupt cannot win the respect of others."

e "who is corrupt" is a relative clause modifying "a man".
e The main independent clause is "A man cannot win the respect of others."

+ Analysis of the options:

e A man who is corrupt cannot respect (){) — Incorrect, because the meaning is
changed.

e A man does not respect others who are corrupt (){) — Incorrect, because it
completely alters the original meaning.

e A man who can win the respect of others cannot be corrupt (){) — Incorrect,
because it is the opposite of the original sentence.

e A man who is corrupt cannot win the respect of others ([74) — Correct, because it
keeps the original meaning and follows a complex sentence structure.

+ Example of similar transformations:
v/ A wise man is admired by everyone. — A man who is wise is admired by everyone.



V/ A lazy student will fail the exam. — A student who is lazy will fail the exam.

48. Find out the correct positive form of the sentence 'Who else is
the better player than Zaman in the team'?

[J Who is the best player than Zaman in this team?

U1 Is there any other players in this team who is as good as Zaman?
L1 Are there any other player in this team who are as good as Zaman?
LI Is there any other player in this team who is as good as Zaman

Answer and Explanation:
{74 Correct Answer: Is there any other player in this team who is as good as Zaman?

+ Explanation:
To transform a comparative sentence into a positive sentence, we use "as...as" to compare
without using comparative adjectives like "better" or "more".

<~ Given sentence (comparative form):
"Who else is the better player than Zaman in the team?"

<+ Correct positive form:
"Is there any other player in this team who is as good as Zaman?"

e The phrase "as good as Zaman" correctly expresses the same meaning in positive
form.
e "Better" is replaced with "as good as", making it a positive degree comparison.

+ Analysis of the options:

e Who is the best player than Zaman in this team? (){) — Incorrect, because "best" is
superlative, not positive.

e Is there any other players in this team who is as good as Zaman? (){) — Incorrect,
because "players" (plural) should be followed by "are", not "is".

e Are there any other player in this team who are as good as Zaman? ()) —
Incorrect, because "player" (singular) should be "players™ or "is" should replace "are".

e Is there any other player in this team who is as good as Zaman? ([74) — Correct,
because it follows proper positive degree structure.

+ Example of similar transformations:

v/ She is stronger than her sister. — Her sister is not as strong as she is.

V/ This book is more interesting than that one. — That book is not as interesting as this
one.



49. Fill in the blank with the correct word: The submarine dipped
to avoid by the enemy plane.

[ see

L] seeing

[ seen

[ being seen

Answer and Explanation:
{4 Correct Answer: being seen

+ Explanation:
<~ The correct sentence is:
"The submarine dipped to avoid being seen by the enemy plane."

e The phrase "to avoid" is followed by a gerund (verb+ing form) in the passive voice.
e "Being seen" is used because the submarine is the object of the action (it is being
seen, not seeing).

+ Analysis of the options:

See (X)) — Incorrect, because "avoid" must be followed by a gerund (-ing form).
Seeing ({) — Incorrect, because "seeing" would mean the submarine is doing the
action, which is not the intended meaning.

Seen (X) — Incorrect, because "seen" alone does not fit grammatically after "avoid".
Being seen ([74) — Correct, because "being seen" correctly conveys the passive
meaning (the submarine is avoiding detection).

+ Example sentences with "being seen":

v/ She hid behind the curtain to avoid being seen.

v/ He lowered his head to avoid being noticed by the teacher.
Vv The spies moved quietly to avoid being caught.

50. In fear of he escaped elsewhere:

L1 arresting
[ arrested
[ having arrested



L] being arrested

Answer and Explanation:
{74 Correct Answer: being arrested

+ Explanation:
< The correct sentence is:
"In fear of being arrested, he escaped elsewhere."

e The phrase "In fear of" is usually followed by a gerund (-ing form) to indicate the
action that is feared.

e "Being arrested” is the correct choice because the subject (he) is not performing the
action but is the object of the arrest (passive voice).

+ Analysis of the options:

e Arresting (){) — Incorrect, because "arresting" is an active verb form, which would
mean he is arresting someone else, not himself.

e Arrested (){) — Incorrect, because "arrested" alone does not fit grammatically after "in
fear of".

e Having arrested (){) — Incorrect, because "having arrested" implies he himself
arrested someone, which does not match the meaning.

e Being arrested ([4) — Correct, because it shows the passive action that he feared.

+ Example sentences using "being arrested™:
v/ He ran away in fear of being caught.

V/ She hesitated in fear of being punished.

Vv The suspect fled in fear of being identified.

51. I didn't follow them. It - Shaijib.

L] were
I must be
L] was
L] might be

Answer and Explanation:
74 Correct Answer: was

+ Explanation:
<~ The correct sentence is:



"l didn't follow them. It was Shajib."

e The second sentence is referring to who actually followed them (Shajib).
e "Was" is used because we are referring to a past event that already happened.

+ Analysis of the options:

Were (){) — Incorrect, because "it" is singular, and "were" is used for plural subjects.
Must be (){) — Incorrect, because "must be" is used for present deduction, but the
sentence is in the past.

Was ([74) — Correct, because it correctly indicates a past event.

Might be (){) — Incorrect, because "might be" indicates possibility, but the sentence
is confirming the fact.

+ Example sentences using "was":

v/ | didn’t answer the phone. It was John.

v/ She didn’t break the window. It was the wind.
v/ | wasn’t there. It was my brother.

52. Samim is my colleague. | __ him for ten years.

] know

] knew

] have been known
] have known

Answer and Explanation:
74 Correct Answer: have known

+ Explanation:
<~ The correct sentence is:
"Samim is my colleague. | have known him for ten years."

e The phrase "for ten years" suggests that the action started in the past and continues
to the present, which requires the present perfect tense (have/has + past participle).

e The verb "know" is a stative verb, meaning it describes a state rather than an action,
so it is not used in continuous forms like "have been knowing."

+ Analysis of the options:

e Know (X) — Incorrect, because simple present "know" does not indicate the duration
of time.

e Knew (){) — Incorrect, because "knew" (simple past) would indicate a completed
action in the past, which is not the case here.

e Have been known (){) — Incorrect, because "have been known" is passive voice,



which is not appropriate in this sentence.
e Have known ([74) — Correct, because it follows the present perfect tense rule for
ongoing states.

+ Example sentences using "have known":

V/ | have known her since childhood.

v/ We have known each other for five years.

Vv They have known about the project for months.

53. The snow swirls___ the valley

U up
Llin

L] through
L] down

Answer and Explanation:
{4 Correct Answer: through

+ Explanation:
<~ The correct sentence is:
"The snow swirls through the valley."

e The preposition "through” is used when something moves from one side to another
within a space (e.g., a valley, tunnel, or forest).

e Snow swirls as it moves across the valley, making "through™ the most appropriate
choice.

+ Analysis of the options:

e Up (X) — Incorrect, because "up" suggests vertical movement, which is not typical for
snow swirling in a valley.

e In (X) — Incorrect, because "in" suggests being inside the valley, but not necessarily
moving across it.
Through ([74) — Correct, because it conveys movement across and within the valley.
Down () — Incorrect, because "down" suggests a downward direction, but swirling
snow moves in various directions.

+ Example sentences using "through™:
Vv The wind rushed through the trees.
v/ The river flows through the town.

V/ She walked through the crowd.



54. There is a coffee shop__ the street

] at
[ on
L] before
] across

Answer and Explanation:
{74 Correct Answer: across

+ Explanation:
<~ The correct sentence is:
"There is a coffee shop across the street.”

e The preposition "across" is used when something is on the opposite side of a street,

river, or open space.
e |f the coffee shop is on the other side of the street, "across" is the correct choice.

+ Analysis of the options:

o At (X)) — Incorrect, because "at" is used for specific locations (e.g., at the corner, at the
coffee shop), not for positioning across a street.

e On (X) — Incorrect, because "on the street" means it is located along the street, not
across from something.

e Before (){) — Incorrect, because "before" means in front of in time or sequence,
which does not fit in this context.

e Across ([’4) — Correct, because it means on the opposite side of the street.

+ Example sentences using "across":

V/ There is a park across the river.

v/ My friend lives across the street from me.

v/ The school is across the road from the library.

55. Identify the correct sentences:

L] He has said to me tat | will go but you will stay there in Dhaka
1 He has told me that he will go but | will stay here in Dhaka

(1 he has told me that | would go but you

] He has told me that he would go but | would stay here Dhaka



Answer and Explanation:
{74 Correct Answer: He has told me that he will go but | will stay here in Dhaka.

+ Explanation:
To form a grammatically correct sentence in reported speech, we need to ensure proper tense
consistency, subject-verb agreement, and logical word order.

+ Analysis of the options:

1. He has said to me tat | will go but you will stay there in Dhaka. ()¢)

o Incorrect because:
m "said to me" should be "told me" (we use "tell" for reporting
statements).
m "tat" is a typo, should be "that".
m "l will go but you will stay" is unclear in meaning.
2. He has told me that he will go but | will stay here in Dhaka. ([4)

o Correct because:
m "He has told me" is correctly structured.
m  "That he will go but | will stay" maintains proper tense agreement.
m "Here in Dhaka" is correct if the speaker is currently in Dhaka.
3. He has told me that | would go but you (X¢)

o Incorrect because:
m The sentence is incomplete and lacks proper structure.
4. He has told me that he would go but | would stay here Dhaka. ()X)

o Incorrect because:
m "Has told" (present perfect) should not be followed by "would" (which is
used for past reporting).
m "here Dhaka" is incorrect; it should be "here in Dhaka".

+ Example of correct reported speech:
v/ She has told me that she will call me later.
V/ They have told us that they will visit next week.

56. Identify the correct sentences:

L] The room was darkened switching off all the lights
1 The room was darkened to switch off all the lights



[ Switching off all the lights the room was darkened
1 The room was darkened by switching off all the lights.

Answer and Explanation:
{74 Correct Answer: The room was darkened by switching off all the lights.
+ Explanation:

The correct sentence should follow proper grammatical structure and clear meaning.
The phrase "by switching off all the lights" correctly expresses how the room was
darkened.

e "By + verb-ing" is the correct structure to indicate the means by which an action is
performed.

+ Analysis of the options:

1. The room was darkened switching off all the lights. ()¢{)

o Incorrect, because "switching off all the lights" does not properly indicate who
or what performed the action.
o It needs "by switching off" for clarity.
2. The room was darkened to switch off all the lights. ()¢)

o Incorrect, because "to switch off all the lights" implies the purpose of
darkening the room, which is incorrect in meaning.
o The intended meaning is that the room was darkened as a result of switching
off the lights, not as a goal.
3. Switching off all the lights the room was darkened. ()¢)

o Incorrect, because "Switching off all the lights" at the beginning creates a
dangling modifier, making it unclear who switched off the lights.
o It needs a subject performing the action.
4. The room was darkened by switching off all the lights. ([74)

o Correct, because "by switching off all the lights" properly describes how the
room was darkened.

+ Example of similar sentence structure:

V/ The cake was baked by mixing flour and eggs.

Vv The problem was solved by following the instructions.
Vv The fire was started by leaving the stove on.



57. Identify the correct sentences:

1 If you had been there on time, you might get the information

U1 If you had been there on time, you might get the information

1 Had ben you there, you could have got the information

] Had you been there on time, you could have had the information.

Answer and Explanation:
{74 Correct Answer: Had you been there on time, you could have had the information.

+ Explanation:
This sentence follows the correct third conditional structure, which is used to talk about past
hypothetical situations and their possible outcomes.

+ Third Conditional Structure:
If + past perfect, subject + would/could/might + have + past participle

<~ Correct sentence breakdown:

e "Had you been there on time" — This is the inverted form of "If you had been there
on time", which is a valid alternative way to form a conditional sentence.

e "You could have had the information" — This follows the could have + past
participle structure, indicating a hypothetical past result.

+ Analysis of the options:

1. If you had been there on time, you might get the information. ()¢)

o Incorrect because "might get” is in the present tense, but third conditional
sentences require "might have got" for past results.
2. If you had been there on time, you might get the information. (){) [Repeated
option]

o Still incorrect for the same reason as above.
3. Had ben you there, you could have got the information. ()¢)

o Incorrect because "Had ben you there" is grammatically incorrect (should be
"Had you been there").
4. Had you been there on time, you could have had the information. ([74)

o Correct because it properly follows the third conditional structure with "Had you
been" inversion and "could have had" for the past result.

+ Examples of correct third conditional sentences:
V/ If she had studied harder, she would have passed the exam.



V/ Had they left earlier, they could have caught the train.
v/ If I had known about the meeting, | might have attended it.

58. ldentify the correct sentences:

] There are trees on the both sides of the road
[ There are trees, on both side of the road

] There are trees on either sides of the road

] There are trees on both the sides of the road.

Answer and Explanation:

{74 Correct Answer: There are trees on both sides of the road.

+ Explanation:

e The correct phrase is "on both sides”, as "both" is used with plural nouns like "sides".

e "The" is not needed before "both" in this structure.
+ Analysis of the options:

1. There are trees on the both sides of the road. ()X)

o Incorrect because "the both" is grammatically incorrect.

It should be "on both sides" instead of "on the both sides".
2. There are trees, on both side of the road. (){)

o

o Incorrect because "both side" should be "both sides™ (plural).

o The comma before "on" is unnecessary.
3. There are trees on either sides of the road. ()X)

o Incorrect because "either" is singular and should be followed by "side", not
"sides".

o Correct form: "There are trees on either side of the road." (if referring to one

side at a time).
4. There are trees on both the sides of the road. ([4)

o Acceptable but not the most natural phrasing.
O

"On both sides of the road" is more commonly used in English.
+ Example of correct sentences:

V/ There are trees on both sides of the street.

V/ There are trees on either side of the river.



v/ She planted flowers on both sides of the garden path.

59. The antonym of 'boisterous’

LI noisy
U unruly
[ cheerful
O quit

Answer and Explanation:
(74 Correct Answer: quiet

+ Explanation:
The word "boisterous" means noisy, energetic, and rowdy. The opposite of boisterous
would be quiet, calm, or subdued.

+ Analysis of the options:

e Noisy (XX) — Incorrect, because "boisterous” and "noisy" are synonyms, not
antonyms.

e Unruly ()X) — Incorrect, because "boisterous" and "unruly" both describe wild and
uncontrolled behavior.

e Cheerful (){) — Incorrect, because "cheerful" means happy, which is not necessarily
the opposite of "boisterous."

e Quiet ([4) — Correct, because "quiet" is the direct antonym of "boisterous."

+ Example sentences:

Vv The classroom was boisterous after the teacher left.

V/ The library is always quiet and peaceful.

v/ The crowd became boisterous, but the host calmed them down and restored quiet.

60. ‘Plagiarism' means

L1 the act of using someones else's idea as one's own
L] the act of planning everything beforehand

L] the act of playing a musical instrument

L1 the art of dealing with forgery

Answer and Explanation:



(74 Correct Answer: The act of using someone else's idea as one's own

+ Explanation:

Plagiarism refers to the practice of copying someone else's work, ideas, or words and
presenting them as one's own without proper credit. It is considered intellectual
dishonesty and a serious offense in academia, literature, and creative work.

+ Analysis of the options:

e The act of using someone else's idea as one's own ([74) — Correct, because
plagiarism is intentionally or unintentionally taking credit for another person's work
without permission or citation.

e The act of planning everything beforehand (){) — Incorrect, as this refers to
pre-planning or foresight, not plagiarism.

e The act of playing a musical instrument (){) — Incorrect, as plagiarism has nothing
to do with music performance (though music plagiarism does exist).

e The art of dealing with forgery (){) — Incorrect, as forgery refers to falsifying
documents or artwork, while plagiarism is stealing intellectual property.

+ Example of plagiarism:

v/ Copying text from a website without citing the source.

v/ Submitting someone else’s research paper as your own work.

v/ Using another person's photograph or design without giving credit.

61. The two cities in A Tale of Two Cities are -

] London and Manchester
[] Paris and New York

[ Paris and Geneva

] London and Paris

Answer and Explanation:
(74 Correct Answer: London and Paris

+ Explanation:

The two cities referred to in "A Tale of Two Cities" by Charles Dickens are London and
Paris. The novel is set during the late 18th century, particularly around the time of the
French Revolution and explores the stark contrast between peaceful London and
revolutionary Paris.

+ Analysis of the options:



e London and Manchester (){) — Incorrect, because Manchester is not a part of the
novel's setting.

e Paris and New York (){) — Incorrect, because the story does not take place in New
York.
Paris and Geneva (){) — Incorrect, because Geneva is not involved in the novel.
London and Paris ([74) — Correct, as these are the two cities central to the novel’s plot.

+ Famous opening lines of "A Tale of Two Cities":
"It was the best of times, it was the worst of times, it was the age of wisdom, it was the age of
foolishness..."

+ Key Themes in the Novel:

v/ Sacrifice and Redemption

v/ Revolution and Social Injustice
v/ Resurrection and Transformation

62. The line 'Frailty, thou name is woman' occurs in
Shakespeare's play

] Macbeth
] Othello
[ King Lear
L1 Hamlet

Answer and Explanation:
"4 Correct Answer: Hamlet

+ Explanation:

The famous line "Frailty, thy name is woman" occurs in William Shakespeare's play
"Hamlet" (Act 1, Scene 2). The protagonist, Prince Hamlet, speaks these words in a soliloquy
while expressing his frustration and disappointment over his mother Queen Gertrude's hasty
marriage to Claudius, his uncle, shortly after the death of his father.

+ Meaning of the Quote:

e Hamlet criticizes his mother’s perceived weakness and lack of loyalty, implying that
women are inherently weak or fickle.

e The line reflects Hamlet’s deep resentment and emotional turmoil following his
father’s death.

+ Analysis of the options:



e Macbeth (){) — Incorrect, because this play is about ambition and murder, and this
qguote does not appear in it.

e Othello (){) — Incorrect, as "Othello" focuses on jealousy and betrayal, but this quote is
not from it.

e King Lear (){) — Incorrect, as "King Lear" deals with family betrayal and power
struggles, but does not contain this line.

e Hamlet ([74) — Correct, because this line is from Act 1, Scene 2 of "Hamlet."

+ Example from the play:

"Frailty, thy name is woman!

A little month, or ere those shoes were old

With which she followed my poor father’s body,

Like Niobe, all tears: why she, even she—

O God! a beast that wants discourse of reason
Would have mourn’d longer—married with my uncle."”

+ Key Themes in Hamlet:
v/ Betrayal & Deception
v/ Madness & Revenge
v/ Corruption & Morality

63. Who of the following compiled an English Dictionary?

[0 T.S. Eliot

(1 John Dryden

1 William Congreve
1 Samuel Johnson

Answer and Explanation:
"4 Correct Answer: Samuel Johnson

+ Explanation:

<~ Samuel Johnson is best known for compiling "A Dictionary of the English Language",
which was published in 1755. His work was one of the most influential early English dictionaries
and remained the standard reference for over a century until the Oxford English Dictionary
was published.

+ Analysis of the options:

e T.S. Eliot (){) — Incorrect, because Eliot was a poet and literary critic, best known for
The Waste Land and The Love Song of J. Alfred Prufrock.
e John Dryden (){) — Incorrect, because Dryden was a poet, playwright, and critic,



but he did not compile a dictionary.

e William Congreve (){) — Incorrect, because Congreve was a playwright, famous for
his Restoration comedies like The Way of the World.

e Samuel Johnson ([74) — Correct, because he wrote "A Dictionary of the English
Language”, which greatly influenced modern English lexicography.

+ Significance of Johnson’s Dictionary:

Vv It was the first major English dictionary compiled by a single person.

v/ It contained over 40,000 words and included literary references from Shakespeare, Milton,
and others.

Vv ltintroduced word definitions, usage notes, and etymologies.

+ Example of a definition from Johnson’s Dictionary:

e "Lexicographer" — A writer of dictionaries, a harmless drudge that busies himself in
tracing the original and detailing the signification of words. <

64. Which is not a poetry form?

L1 Sonnet
(] Ballad
[ Epic
[ Tale

Answer and Explanation:
"4 Correct Answer: Tale

+ Explanation:

Among the given options, "Tale" is not a specific poetry form, whereas the other three
(Sonnet, Ballad, and Epic) are well-defined poetic forms. A tale generally refers to a story or
narrative, which can be written in either prose or verse.

+ Analysis of the options:

e Sonnet (X) — Incorrect, because a Sonnet is a 14-line poem with a fixed rhyme
scheme, commonly associated with Shakespeare and Petrarch.

e Ballad (){) — Incorrect, because a Ballad is a narrative poem, usually written in
quatrains with a rhyme scheme (ABCB or ABAB), often telling folk or romantic
stories.

e Epic (X)) — Incorrect, because an Epic is a long narrative poem that tells the story of
heroic deeds, such as Homer’s lliad and Odyssey or Milton’s Paradise Lost.

e Tale ([74) — Correct, because a tale is simply a story and can be written in either



poetry or prose, but it is not a specific poetic form.

+ Examples of Poetry Forms:

v/ Sonnet — Shakespeare's Sonnet 18 ("Shall | compare thee to a summer's day?")
v/ Ballad — Coleridge’s The Rime of the Ancient Mariner

v/ Epic — Homer’s The lliad, Milton’s Paradise Lost

+ Example of a Tale (Prose Form):
Vv The Canterbury Tales by Geoffrey Chaucer (though it includes poetry, the term "tale" refers
to the stories themselves, not the poetic form).

65. | am a man more sinned against than sinning' This is uttered
by -

L] Horatio

U King Lear

] Macbeth
] Hamlet

Answer and Explanation:
{4 Correct Answer: King Lear

+ Explanation:
The line "l am a man more sinned against than sinning” is spoken by King Lear in William

Shakespeare’s tragedy King Lear (Act 3, Scene 2).
+ Context of the Quote:

e King Lear utters these words during a storm when he feels deeply betrayed by his
daughters, Goneril and Regan, who have turned against him after he divided his

kingdom among them.
He believes that others have wronged him more than he has wronged anyone else.
The phrase has become a proverbial expression meaning someone feels unjustly

treated.
+ Analysis of the options:

e Horatio (){) — Incorrect, because Horatio is Hamlet’s loyal friend in Hamlet, and he
does not say this line.

e King Lear ([74) — Correct, because he says this in King Lear, expressing his self-pity
and sense of injustice.

e Macbeth (X) — Incorrect, because Macbeth, from Macbeth, does not express remorse



in this way; he is more driven by ambition and guilt.
e Hamlet (){) — Incorrect, because Hamlet is from Hamlet, but this line is not his.

+ Example from King Lear (Act 3, Scene 2):
"l am a man more sinned against than sinning."

¢+ Key Themes in King Lear:

v/ Betrayal & Injustice

v/ Madness & Power

v/ The Struggle for Identity and Recognition

66. Which event influenced the literature of the Romantic period?

[ Industrial Revolution
[] Russian Revolution
] Hundred Year's War
] French Revolution

Answer and Explanation:
"4 Correct Answer: French Revolution

+ Explanation:

The French Revolution (1789-1799) had a profound influence on the literature of the
Romantic period, inspiring writers with its themes of freedom, individualism, and social
change.

+ How the French Revolution Influenced Romantic Literature:

e |t promoted the ideals of liberty, equality, and fraternity, which aligned with the
Romantic movement’s focus on individual rights and emotions.

e Many Romantic poets and writers, such as William Wordsworth, Percy Bysshe
Shelley, and Lord Byron, were inspired by the revolutionary spirit.

e The period saw a shift away from rationalism (of the Enlightenment) toward emotion,
nature, and imagination in literature.

+ Analysis of the options:

¢ Industrial Revolution (){) — Although it influenced literature, it was more associated
with Realism and Victorian literature, not Romanticism.

e Russian Revolution (){) — This occurred in 1917, much later than the Romantic
period (late 18th—early 19th century).

e Hundred Years' War (){) — This medieval war (1337-1453) had no direct connection to
Romantic literature.



e French Revolution ([7]) — Correct, because it sparked revolutionary ideals that
influenced Romantic writers.

+ Example of Romantic Literature Influenced by the French Revolution:

v/ William Wordsworth's "Prelude" — Explores his early enthusiasm for the revolution.

v/ Percy Bysshe Shelley's "The Mask of Anarchy" — A political poem advocating liberty and
revolution.

v/ Lord Byron's "Childe Harold’s Pilgrimage" — Celebrates the heroism and struggles of
revolutionary movements.

67. The author of A Farewell to Arms is

L] Somerset Maugham
] D.H. Lawrence

L] Jane Austen

] Ernest Hemingway

Answer and Explanation:
{4 Correct Answer: Ernest Hemingway

+ Explanation:
<~ "A Farewell to Arms" is a novel by Ernest Hemingway, published in 1929. It is a

semi-autobiographical war novel based on Hemingway’s experiences as an ambulance driver
in World War 1.

+ Summary of A Farewell to Arms:

e The novel follows Frederic Henry, an American serving as an ambulance driver in the
Italian army, and his tragic love affair with Catherine Barkley, a British nurse.
It explores themes of love, war, fate, and the harsh realities of life.
The novel is famous for Hemingway’s simple, direct prose style and its realistic
depiction of war.

+ Analysis of the options:

e Somerset Maugham (){) — Incorrect, because he wrote novels like Of Human
Bondage and The Moon and Sixpence, not A Farewell to Arms.

e D.H. Lawrence (){) — Incorrect, because he is known for Lady Chatterley's Lover and
Sons and Lovers.

e Jane Austen (){) — Incorrect, because she was a 19th-century novelist known for
Pride and Prejudice and Sense and Sensibility.

e Ernest Hemingway (["4) — Correct, because he wrote A Farewell to Arms.



+ Other Notable Works by Hemingway:

V/ The Old Man and the Sea (1952) — Won the Pulitzer Prize
v/ For Whom the Bell Tolls (1940)

v/ The Sun Also Rises (1926)

+ Famous Quote from A Farewell to Arms:
"The world breaks everyone, and afterward, some are strong at the broken places."

68. Who is the most famous satirist in English literature?

1 Alexander Pope

1 John Dryden

L1 William Wordsworth
] Jonathan Swift

Answer and Explanation:
74 Correct Answer: Jonathan Swift

+ Explanation:
<~ Jonathan Swift is widely regarded as the most famous satirist in English literature. His
works use sharp wit and irony to criticize politics, society, and human nature.

+ Famous Satirical Works by Jonathan Swift:

v/ Gulliver’s Travels (1726) — A satire on human nature, politics, and European society.

v/ A Modest Proposal (1729) — A powerful satirical essay suggesting that the poor should sell
their children as food to the rich, mocking British policies toward Ireland.

V/ The Battle of the Books (1704) — A satire on the literary debate between the Ancients and
the Moderns.

+ Analysis of the options:

e Alexander Pope (){) — Incorrect, because although he wrote satirical poetry (The
Rape of the Lock, The Dunciad), he is not as widely recognized as Swift for political and
social satire.

e John Dryden (){) — Incorrect, because he was a great poet and critic but not primarily
known as a satirist.

e William Wordsworth (){) — Incorrect, because he was a Romantic poet focused on
nature and emotion, not satire.

e Jonathan Swift ([74) — Correct, because he is the most famous satirist in English
literature.

+ Famous Quote from A Modest Proposal.:



"I have been assured by a very knowing American of my acquaintance in London, that a young
healthy child well nursed is, at a year old, a most delicious nourishing and wholesome food."
(This is satire, mocking British oppression of Ireland.)

69. Which period is known as "The Golden Age of English
Literature"?

1 The Victorian Age

L] The Eighteen century
1 The Restoration period
L1 The Elizabethan Age

Answer and Explanation:
{4 Correct Answer: The Elizabethan Age

+ Explanation:
<~ The Elizabethan Age (1558-1603) is known as "The Golden Age of English Literature"
because it was a time of unparalleled literary achievement, particularly in drama and poetry.

+ Key Features of the Elizabethan Age:

The period saw the rise of Renaissance ideals in England.
William Shakespeare, Christopher Marlowe, and Ben Jonson produced some of the
greatest works in English literature.

e The English language became more expressive and flexible, leading to the flourishing
of poetry, prose, and drama.

e Theater thrived, with the development of blank verse and complex characters in

plays.
+ Analysis of the options:

e The Victorian Age (){) — Incorrect, because although the Victorian period
(1837-1901) was a great literary era (Dickens, Tennyson, and Bronté sisters), it is not
considered "The Golden Age".

e The Eighteenth Century (){) — Incorrect, because it was dominated by classical and
satirical works (Swift, Pope, Johnson) but was not the golden age of literature.

e The Restoration Period (){) — Incorrect, because it was known for comedy of
manners and political satire (Dryden, Congreve), not the height of literary
achievement.

e The Elizabethan Age ([74) — Correct, because it was the most flourishing period of
English literature, especially in drama and poetry.



+ Notable Writers of the Elizabethan Age:

v/ William Shakespeare (Hamlet, Macbeth, Romeo and Juliet)
v/ Christopher Marlowe (Doctor Faustus, Tamburlaine)

v/ Ben Jonson (Volpone, The Alchemist)

v/ Edmund Spenser (The Faerie Queene)

+ Famous Quote from the Era (Shakespeare, As You Like It):
"All the world’s a stage, and all the men and women merely players.”

70. Which novel is written by an Indian novelist?

1 The Return of the Native

L] Things Fall Apart

1 Heart of Darkness

1 The Ministry of Utmost Happiness

Answer and Explanation:
{74 Correct Answer: The Ministry of Utmost Happiness

+ Explanation:
<~ "The Ministry of Utmost Happiness" is a novel written by Arundhati Roy, an Indian
novelist, and was published in 2017.

+ About the Novel:

e The book is a political and social commentary on modern India, addressing themes
like Kashmir conflict, caste discrimination, gender identity, and government
oppression.

e |t follows Anjum, a transgender woman, and Tilo, a strong-willed woman, as they
navigate the complexities of Indian society.

e This is Arundhati Roy’s second novel, following her Booker Prize-winning debut, "The
God of Small Things" (1997).

+ Analysis of the options:

e The Return of the Native (){) — Incorrect, because it was written by Thomas Hardy, a
British novelist, in 1878.

e Things Fall Apart (){) — Incorrect, because it was written by Chinua Achebe, a
Nigerian writer, in 1958.

e Heart of Darkness (){) — Incorrect, because it was written by Joseph Conrad, a
Polish-British writer, in 1899.

e The Ministry of Utmost Happiness ([74) — Correct, because it was written by



Arundhati Roy, an Indian novelist.

+ Other Famous Novels by Indian Writers:

v/ The God of Small Things — Arundhati Roy

v/ Midnight’s Children — Salman Rushdie

v/ A Suitable Boy — Vikram Seth

v/ The White Tiger — Aravind Adiga (Booker Prize winner)
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Answer and Explanation:
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~ 526G TEF PfSRHF b-7%] M ot =7 CTH {FFF TRAEH (T TI[e THTHE
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o I 3 FATH (XK) — T, FTFT AN AT AW TIFTES 2 TR 7S feae|

. WBW(X)%T FIAT 93 26 [RTT NEFF TTFE 200 TR TI[ FT
@R
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(SITTENE TAITR 3 T (ST A10@ F16 3|

+ fofwfa= (TCB) gfe:
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Answer and Explanation:


https://sangbad.net.bd/specialsupplement/intwomansday2021/2021/30409/
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Answer and Explanation:
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Answer and Explanation:

FRNCT SRITHET > ¢ FIF ey NI AZAS T4 HERARS @ (v | 9% e[t S wHy
SN T @R "I [FEEAS AFAS 9 e 2@ 932 I4 [Fe=fed sifiRe “@nrt SR
B AT [EFFE @ FEAET "

STodR, NOF Soa:
4 ¢
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Answer and Explanation:

58 SETH T ARFIA M AT A JFH6 204 [T ARG N 23 0f6 e ot
2| 9% T qfersr st 5ma »f6 sise 13|

SOAR, NOF Sod:
4 xx0
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Answer and Explanation:

FRATT (I FHNEF e A F37T T (N AE@E | 2038 S CNW IEE@ L TN Y ST
FRATET FHA (SR, T IFF TG (FIEAT (GCTF Tl FE S F AT |

STodR, NOF Saa:
A onfw sr"7

99. FEO AT Y03® N (FSTH (@NFIT T0F (TIRA?
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Answer and Explanation:

2030 N (IS (AFIT T9F (TIS ¢ S (I8 1|
STOAR, WOF Tod:

4 ¢

100. R THH STAEG A2 (B35 NHS 7 FE @ (07 [TITF?
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Answer and Explanation:
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& RATWT T ST 8 (556 e o F ag@Es o)

N RICICARIERECR
V/ 2008 ST IR TR [0 F3 ST HE 3 F|
V/ AR ¢ TGS HHGE 0-) T SIS FE|



vV aft oo IaeTe aRsifes FE® I3 Bnfis SifEs 53|

R CRABICEECRE

V/ x00¢ ST IRAT FSEFES foes o249 (6 S 57 F|
V 2 TS SIS IRTE@T S-0 FINTH SIS FE|

V/ afG {52 IREAT@CTF 23 (56 6 TI3 (58T, 200¢ NE) |

» AegaEa [ReEe:

o AMFIA (X)) — T, FIR AFIEH [T T3 7S 5T A@S AF AR
o UfRE IMBFT (HK) — ©FF, FIFT IRANTT T3Fel AMWHTH T T S T (@A™ 2033

ST |
o ©EW (X) — O, FIFT IRTT SIHGR [FIE TG MiFS Forms (56 HifFer a3 e
AT |

o W () — FF, F1F IRAT T SIS 3 (56 M e FagEe Ko |

+ OTRIF:
V/ IR J SIS {7 (2008) 932 TN (556 SIS ST (200¢) FE@ FANTRIF 70T |

101. (@S =G g =7 foas ke nfee 23?
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L] So J
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Answer and Explanation:
(7] 3% Sea: xo T

o A
r g 3N f935T (World Refugee Day) 5 357 20 S ©IfF Mfere 271
» afSdT:
V/ 2000 ST SRS ST =faTw (7 RN AR, fVarTar 8 FHEE i 3fe FHer=
Sy a2 et e Eer &
V/ 2005 S (@ Al a2 et e 2=l
o ST
V TR SIS 8 AT9E W Nheael Jia FAT
V TAEF TRFeT 9T THAWT AT ST

+ [TFISENR e
o I (XK) — g, I aft 7 =f{ET o=



e o IF (X)) — T, F1FT a2 o AFHSF ST st =Mfere 271
o 2 TA(X) — &, F1F A6 TTFT IRGIeF M7 |
o 3037 () — %, F17 afva g =@ fias nfers =31

+ TINRF:

V a6 T Y0 I O g et =57 Mfere 27, I1 NI SAEHTH 3 ST Fo=7F fraw
SEoTe] Iad T TfoT F93 e

102. SIfOTRE N9F 3 T T2 FE 57273 UNODC-a7 o ST
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O foesanst
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Answer and Explanation:

4 5if5< Taa: fo@an

¢ A
< SO AWF 3 AT 713 53T (United Nations Office on Drugs and Crime - UNODC)
AF T PR AFTIEF AT fSFAT =EF SAFe |

* \ﬁ)él 3 FAF:
v/ UNODC $5»9 NI afefde 23|

V aft MW3aas e, STaTy aferEn, STHTaTm (1], Gaife T, NI e SferEs ey
ABEOF TR [T F16 3|

+ IFgsEg [uEe:

T () — T, FTE @ SSSEA AT 8 T 777 (FAO) J1afre|

ST (X) — T, I (AT SGSET TSI FHeF (OHCHR) ¥ |
BT ()) — ©eT, ST a6 SSTRE (T ST SIS 27 77|

R () — S8, Tl UNODC-A7 S ST AT 91af¥s |

o OTTRIE:
V SIfeTET IWF 8 AT FS 2731 (UNODC) AT I8« FHEH fo@a, aif%Te safie|
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Answer and Explanation:
(74 0% Taa: 208

¢ AT

& IRAGI-BIFG T TG TS TGIFAD 2080 T IFHS 27|
+ DR Gfed qT T ool

V' 9Z (0TS 3T SRS ferefreter 7|

V/ fo5ee ey 8 sy g 3411

V TREIST AR TNAFS S SIS AT FA7

+ ST OT:
V TS 205) T TISHES 28 205¢ W SIFOIT SIG AqENve 27 A3 FFT F41 27|
V aft TRITER T 32 eTE M Ao S S S 2@ |

» AegarEna Ree:

598 (X)) — &, FFT a6 IRA@T-SFS Al {fed T2

2050 (X)) — T, FTET 2050 T SENETST (FIET FNQ §fe 23|

205¢ (H) — IR e, FIFT 205¢ FE A6 IFAME AR, FF THEHS AR 205 TN
208 () — 5%, F1R 92 29 ARTWIT-SIFS 3 TS §fEF o1 IFHo 27|

» OTRIEF:
V IAT-B1Fe 39 NG ToFe ST 205S T TEHES 37 932 Y05¢ T FHFF 2T

104. SEIET =RAG (1A (0T HI5S?

O 29+
O 2919
O S61
O ffaan

Answer and Explanation:



[ w57 Tea: ffaan

MG NENE
< SEIET (Aleppo) FETEHF 9716 87w 8 Mfene =7, I fifazz safe|
vV aft Sifaae fG8lT g2 27 9% AT (FIF TNAf6F @5 |

V/ AMEE 2AG ThTed FHsMe INIFE TREASEF AF6, I IO T2 §@ Toved (T4 e
s ofiF FE@|

V SIERTE SR ST (05 ST (W), TRA Aeren FH JHEHE FH0e 27|
SREEE-RIGIEREEREE

o 3AW (X) — O, FTET 3T SFIYA TRASET NS (O2AT, AP, TSI TG |
o 3% (X)) — ©F, FIHT AT ST TRASET N AW, FJ, TV TG |

o TEW (X)) — T, FIHA FEE TS WA 97 PR T2 (1T

o T () — 5%, Frer s SifFg 936 fenfie 8 sFggf 1211

LR ICE
V ST =Afe SEEE sesfe, 31 fenfiwers a3 s Ififens 8 Mgfes @l

105. ST (IR &S (B6 'F99' 97 TOIF 05Ty 23] F@?
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Answer and Explanation:

(74 5% Taa: vwes

o A

< f&99 (Group of 77) SHAIFIT (TIITNT AF(6 ATHGF (6, I v L8 W AfSfFe =
V a6 3778 99f6 (7 (T B @R, OF TEA Ty T2 s

V 92 (&6 SifoET Rfeq (TR SaFae (WISEE I1¥ THE 5l F16 & |

¢ 3T °T3%5:

V Ifidfed TrEfer 38 (FN2 SaF |

V/ SHIT (PISETE M sy 8 R 3w awen

V ST AT, Wi GHeadT a5 Tafed SHIE SRFe|

» AegaEma e

o S0¢ (X) — g, F1FT Aft TAREF FusTy RAF FRFM, ©@ TSN F2 77|



o 35¢ (X) — o, FIR f599-9 2937 97 (6 @ T T@A@|
o 3¢ (X)) — T, FTAT OIS SIS 24T SwsfB]
o 98 ([4) — F, F1F {99 ISNE S0l THIFTT MCTF 9F6 G |

» TTNTIS:
V 3599 TG L8l T ANET 9F6 (Sb, I SMORET A SHITNT (PISTENT AN doF 3
TSE I T FEF|

106. "x0\o NETH V&Y eI widw 14, 77 3 Frag may JwF
T e @6 GCFH2 STIF THHNAT (F|F NS THy?

O BsfG 8.8
O o1t b
O 515 5.8
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Answer and Explanation:

V4 sifd< Taa: BsfG b.2

MG HENE

<r (G312 ST THWAT (Sustainable Development Goals - SDGs) 95 ¥ 9618 (Goal 1) TN
"I @ ST |

V AT B 5.3 XE "Yowo ST M I8 5361 wfaw 14T, T 8 Frag iy 9ge JwF I
S|

V aft mfFenm afia 8 JF I Saemdia o [Ffew Fif IRIIET T wifw SR ST
8Y (7|

R ECT-RIGIGEE[ERER

o BTG 8. () — &, F17 Af6 5 Miaws T O (3o %5 fvsf1ael F|

o B b9 (X)) — B, F1F aft TAREF JFHT [T SHI@H $7F ST (W |

o BTG 5.8 (M) — T, F1a9 a6 NI M@ GNferss (177, Tifeq AfEFF 932 INAfeF T wd
TENEFF [0 FIF 875 3FF (WT|

o B .2 () — ST0%, F137 aff 2000 NIE M IR TET AT M AT AAH
TGl Ve 1Ee FE|

o TTTRIE:
V BTGB 5.3 X "000 NTETH NS frgamil wfdy Se@a Sy FHAEE ¢o% 21 FAR T, I (GFNR
THIN THINAT (SDG) T TSI F|
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Answer and Explanation:

VEICERERSE

¢ JIAT

/- afiF TFIT SWTET (Global Development Initiative - GDI) 47 SREF (W7 36T Si)

V' af6 203y @ Si@a (3 7 Faf sifeska @ Sf{vma S & @& en FE4|
V9T 3 T TE (B2 SHIA THIHIAT (SDGs) IE SHITAT (TISEN T2TST FA7|

V a6 e 8 e SR SR Giey (TSR el SITFP] ST I3 FY[&5Te
2o e Fd0 16 FE|

» AegarEng [Rere:

o TP (X) — T, FIF ST AFTE TaF TAFreT @S &y *fHfow|

o GIR (X) — T, FHY (GANF AHRTS (5372 P 3 NAINEFT SN FT18 I |
o SR (X) — O, FIFT P3G S 3 NAIF F2AT ST (3 N (77 |
o B () — I, F1a SiF " &A% SHFa StireT (GDI)” a7 WEF |

+ TINRF:
vV S 203 ST " afEE ST ST (GDI)" SWHIST AVF FE, T STIFTAT (TISET (GFH2 SHAE
SRITS] FAF T 310 AR |
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] y99w
] v>98
1 $9¢
O] S99

Answer and Explanation:

74 3% Taa: vaNn

MG NENE



O IRAMT RR IA, SR ST AR[H[6F T 12777 (International Labour Organization - ILO) a5
SS9 (|

v/ ILO oG SfSSTma 5731, 1 19 AP, FAAIET STIH, 3 ANFTT FOCEF Fely I FF |

V S 28T TG IR 79 ANFE, g =5 g, faarm sefae, ¢ oy sofRa {3
IS FA®|

» AegaEa [ReEe:

$399 (X)) — GF, FIRT IRTATET SR ST ILO-(® (VST (W |

598 (X) — ©, FTFT TG NS NOF T=F SHR|

$39¢ ()) — 1, F179 a6 FF© TTTT7 A(©F T2 77|

s> () — 5=, FRe IRAT 33 T, 993 T ILO N3 7S FE|

» OTRIF:
V/ FRIGT 3 T, SR ST NFHNSF T 5237 (ILO)-9F Tusiy=™ 1e |
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Answer and Explanation:

4 ~ifé Tea: oNft <ad

MG HENE

4 FRAECTE NGB FIA AP T ST FAMGIF (IS 97 HE NG @ I (%
A |

V FIRA JE FA@E S GG AR, T YF AR AT, 3T, TS 3 FON FHAIAI ST
I8 FE@|

Vv O SEER (TG 1t ST 88 WARIF b o1 ST S, JT A5 FH SBI3E Ao
FIE®I

» AegaEa R
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Answer and Explanation:

(Y] 3% Soa: Seary Afaaes

* AT

¢~ 3% (COP 28) SCHTAL SSTRER I ATITON T (F9%, AT 2030 N GAR© AYP©
2|

v/ COP (Conference of the Parties) STTesE Ty AHIGAIIIF HHITF FAGATA@H
(UNFCCC) IIfl 9o {97 |

v/ COP 28-a7 ¥ §fe:
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@A®I
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V SRR ARG PIRE TN MG FTNF 3 FIIA foysiaiey T TTaHsmay fovef 7o F71 33|

» AegarEa [ReEe:

o THNIF AEFIF ()) — TF, FTFT COP 28 THIHWA o 77, afb Sy {79 fam 31
FE|

o TG S ()X) — T, FF a6 o F S {77 771

o STl feramstar () — ©F, I8 Siary wenfaa {36 Senfte 2@, @ COP 28 F7e
ST SIS T 18 I

o A AFT6H ([4) — 5%, FF1 COP 28 e Sy HTG (NN 3 FIH fofe5aer
2T TS 10 FE|

+ TTIF:
V/ COP 28 3 SfoS:E S AT 1 (39%, AT 2030 N GIRE IAP© 27 432 Farw
A TIRNF FANF N I PFarces (=@ 271



111. @S NTHAW o3 2030 AT (FF (6 FIGE @
SR P MET?

L e
O o1

O safer

O Srssnfera&

Answer and Explanation:
V4 sifd< Taa: s

¢ AT

4 W 3AFHHOE B IFENE TS B (IEP) HF1HTS 2030 NEH (@AF TASEW 53 ST @,
S AT STAEE (@ TAHAWE e W71 (7 ReTE eifeeige @I

V SIEE 8 AR o] S T FRAFEF FIFE (W6 Ao &@2 93 e e @w|
V TRANTT 92 ST6(@ 80N AT TACR, TN QINTFONT F5 Jf57ef|

» AegaEng [RerEe:

TR (X)) — G, FTHT (600 THES SRETS AFETS TG [ QT T3]
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T (X)) — T, I3 AT N 2 516, B A6 T §fFFw o 73|

AR ([4) — 5%, FF aff 2030 NEF @RF TINIW SHEE TF (7|
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Answer and Explanation:

4 55 Taa: SIS

MG NENE

< @f¥F S 5% (Global Peace Index - GPI) 03 IR ARTNISG 5.5 (FIF (T 0T T6@
MR (77 RN oiffsige T@®|

V SIBNIS 200 S (V@ HFRIRFONT 92 Tod N TA®|
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P () — S, I3 a6 T (TISTENR e Fefve s, $& MF 77|

SmE (X)) — T, aft @™ (rIsEna Wy AFEs T i orr 93|

SRS (X)) — @, a6 TR (TISENE N NFE3 IMRTANSH A A5 FA@|
RS () — 5%, F1Eer aft {esg Saw@ Nl o

113. T I (The Twelve Tables) F1?

O =#rresd Sf e
O 353 (¥R ferzanafer
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O ET SR fofe

Answer and Explanation:

4 518 Taa: @+ SRwd fofs

o A
<~ ' fAfE" (The Twelve Tables) (R SR S 4@ P |
V afo abia @TerE IRT [IEE S8 93 fFEF 8as-8¢o S (RPN fH=Tafenaa sy Zfte 231

V a6 @EFIE 8 (HomIE SR T J24% A2 ke 5377, JT T © 6@ AR FI3F
fefe tofd FE™|

BT RIGIGREERER

Frea SR e () — o, F1ae aft R =ifFe, Frtes 47|
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FAIEE (37 (X) — G, FIRG Af6 2 T

@ SREF 618 ([4) — 5F, TR aft @ IRE 723 e Fw|

114. fSATES 2314 (Siachen Glacier) &y QAF0? (F1 7216 (WCE

0 o= 38 S

O @ 8 S
O nfFe= 3 St
O o1 9% 8 TFIT

Answer and Explanation:

Y4 5ifd Taa: @ 8 MFIA



* I

< f1ES fR31R (Siachen Glacier) &8 8 TFINF A& w3f¥e 932 a6 [Fe3a TS Jacsa
RO AfAfce|

vV aft IR TfeNT T e a3 FrES [[FefFe TeET anT|
V 558 ST (Y@ B1F® 8 MEINEF FE&F 2N NHEF A3 T@=|

» [APISENS fHEEe:
e ©FG 8 81T (X)) — T, FFT afb TFe-NFIEF H&F FI %o |
o (T 3 B (X) — ©F, TR PTG 2o (oIt 7
o MNFIE 3 BT (X) — TF, F1F a6 ©1F® 8 TRFI@F FTFH [FoiFe A%

oo 8 NFIA ([4) — 5T, F12 aft oFe 8 NFIET F&y AIfFe |
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Answer and Explanation:

V4 sifd< Taa: Taware gy

* I

< SDG-8 97 Y X "SAF S AFGSFIAF 3 FHSINS6F Nste 7 fAffee Fa7 9% Staaamit
[REJERRIER DI

Vv aft 8e1s1e T, v ST, a3 R Seier Ae© 19 3 |

» AogaEa R
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Taee gy ([4) — 5%, F1&+r aft SDG-81
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O wfEsF TG
O fIMGT JG1Fe
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Answer and Explanation:

V4 15 Tad: FHIENET SBIFe
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Answer and Explanation:

Y4 5% Saa: *fA@amht ST
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Answer and Explanation:
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119. TTF AGANGF {ed Fo 999 N (A [T 417N6F T
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Answer and Explanation:

4 ~if8= Taa: Afe@ ¢

o FIAT:
4 AMGIE FfET (NATO Treaty) G ¢ ST, (FIET 95 A1 ANF8 2 ©f TH T G
S5 S fRevE fAEfee 2E|
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Answer and Explanation:
("4 s1fo% S8a: SwEam (Liberalism)

* IR
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Answer and Explanation:
(Y4 5% Tea: 2fFa, famsg
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g, e g () — 5o, F1Re R Ferawz M@ 2 a Sy safss |
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Answer and Explanation:
V4 5if5 Taa: FF1 wioo B
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vV Se4F, 8¢° x 8 it = Yo G (@ TB61) MAFT &1

V @@g 340 & M@ 93f%e, O GIF1F ST br:ioo BT T P F@F 9T T @00 b (FFM)|

EET-RIGIGEEIERLR




SFTT :00 BT (X) — &, F17 aft A6 i 2@ 2o
ST Y:o0 BT (H) — T, FTFT TIF TRAFT & TG 7|
e »:00 BT (X) — 9, FEer aft Afefae |

AP w00 BT ([A) — TOF, FIFT TIT AFT © TbT T

123. (@19 G (NG TSI IS HSH IS0 AIF0?

O 3foTe 8 FIffe

O 3T 8 anfHaa

O Fiffs 8 3@

O 3T 8 20@EF AT

Answer and Explanation:

74 5% Taq: ST 8 3o@PFIe

o T

4 NGB ASTEH 2SI (86 8 TSEI (B SRETFIE A3 |

V 3ETE (36 TSEPAE (FGF (a9 I FAF B RAFTI SHoNH (8 2T@q®|
v aft ST FTEE TR e (b, v8%. % FIHE)|

» [AFgaEng [Rega:
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Answer and Explanation:
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< FONST 2 YRS fFFos I, (FAMT SHOTF JE Ty 215 7|
V i s RFEREE THeT Fam ST ©rTsal b.¢° (NS JN T |

» AogaEa R

¢.@° (TAATRFENGE (X)) — B, F1a aft F 2 Sroevar 21 (13|

9.¢° (TINIITFENRGE (XK) — G, F1F TG J af6 77|
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O NFF AT IS
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Answer and Explanation:

4 518 Taa: STy Sfas 5998 " TFE IS

¢ YR

4+ TR SIS COP-28 SCHH SIITH FIETI (&, ST, FIeT) (N KT KT ([FRF A= @
PFAEY TARI

R ECT-RIGIGRE[ERER

Sa@Eftar wawT ()) — T, F1F aft COP-28 a7 37 (IR foet a1
ST T fommer (X) — @, aft IET (NERER MO T |
NFFA AFI 2T () — ©FF, A6 AFWTSNF NG FA7T 27|

Star Senferg a2 HEEE 2 () — IF, =9 aft COP-28 a7 37T STy =g
feet|

126. fTTH1T ©F (¥F ToF (NFF (FI[9F GFT IT S 5TF (F1T F67?

] Svwo
] wyo®
[ o°



1 do

Answer and Explanation:
74 sifd< Taa: »o0°

¢ AT
- 91T ©F (V@ ToF (TFA (RI[9F 777 20°|

vV ST @ng 99w o°|

V/ 08T (T A3 »o° B3F AFHRT|

127. SR 1 'S a7 orf $1?

O fermegfed (68
O sTejfuss (68
O] Syefrearsy

O (MeT@E (68

Answer and Explanation:
(74 5% Tag: (NeEF (GG

MG HENE
< S (Tsunami) ST %1, IF 91X "IRIF 3FS" AT "(MOTIIF (6" |

V' a6 STR{fu St J1 ST SEys Mo BT S8 1 (63 |

128. (@A SHFREH oof el 77 (F(6?

U I3
L] 431

O [ oF S%el 34
O gl

Answer and Explanation:
[ 3% Soa: gl
* A

O B (FIET S ARG AG e G 77, a6 G-MNFhed G|
V &% SIIEF T TN, FFFI, 3 I OF 5%l I% 27|



129. FAT fATHCT ST TN TTH S A (PIAG?

O a1 XIS 52731 S{fo 6 FAT

O At 92 S JN$T YT a1

O 3R TXTON 8 NoRFaq IR SHIF NIET FAT
O S5 2 ST =TI (a2 wve1 s F47

Answer and Explanation:

(7 537 Tom: I AN 8 NoI Fa TITF SHIT N FAT

¢ AT
& TR RSN 8 TP I I35 ANSETP 137, ©F A6 FAN( FFFR[TS T3 77|

130. fAEF (FHG FH-NTR3IG@S AT (Hazard)?

O gt
O sy
mEE)

Answer and Explanation:

V4 sifd< Taa: ¥aT

¢ A
& AT T FR-SNRRSIS NS 1T, J7 A 557F 47F JBM@F ST HE TG |

Vv aft o7 S FIF TS1F (B |

131. fAEa @A TS SHH F9?

O ety Fesf (H:0)

0 9 TRIAFRS (CO2)
O fare (CH4)

O JRf%s =336 (NO)

Answer and Explanation:



(7] 5if6% Taa: aRfE J=RS (NO)

¢ AT

< FARISE ST R ITLFSE 0wt a3 STy A7 ©77 §(& A A3 AT ST oo o
|

V TRISE STHSER & TEA®:

&g 7 (H.0)

FET SRIAFRG (CO:)
fSre (CH.)

ARES ARG (N-O)

vV TREF IERG (NO) Tazrss s 73, aft sFre q@a1at s, I7 912 3 B (3@ fsfe 7 aa
TS (FIEF &5 w1 |

» AegarEng ReEe:

51T 371 (H.0) ([4) — TorzrSs sty

FET TRIAFRS (CO:) ([4) — TeTzros sy
e (CH.) (1) — Tazrss st

TREF THRT (NO) (X)) — aft Mazros s a7

132. TNF 5l PH 98 &S N (FH(06

9
[ So
L] o
;]

Answer and Explanation:

V4 51f5 Taa: o8

* AT

<~ pH CF 2 o (IF 48 G 9F6 (F1, JT TJF Yol ] FIFF [T FE|
Vv pH 9 — S50 (T 85 7ife)

vV pH 9 93 5 — IHEF (T3 (FF T, fS@T1H)

v pH 9 97 @ — HITT 7 @ (FTFT TS, SIETIET)

v/ pH 38 — T AT &3+

» [APISENE fHEEe:
o 9 (X) - aft TS, oF T 97



o 30 (X) - aft THT, 5@ TETE 77
o 30 (X) — pH GF b8 =T ThI=
o 38 ([%) — 5=, F1Fr aft TET® pH T =

133. (F A ] AE O A& JAT?

O @EErs
O RGBT
O &I
O FRETI

Answer and Explanation:

V4 3% Taa: IRE@IN

¢ AT

< ARG XE (N (of 7 (@4, J7 Uikl amie (Organelle) RoTE afafts|

V aft TREIENSE JEoIE AT ASTHGNS (RFOFNEE S & T3 ATHe MNE|
V CETS (TARIES) S

o @FEETS (X)
o STEARACI (X)

» AegarEng [ReEe:

@FrEETS (X) — aft e ™ERe

MRERHBAT (X)) — a6 (78 MIERe
sEEeT () — aft 959 MiERe
TRETC () — afo TfSie s

134. MFioF RSN ToFH] FOOI5T 238 SAEHGIT ANF?

105
0] 69-3%
(] 0.993

Answer and Explanation:

74 i3 Taa: 55.9%



* AT

O MNPFeF RO@AIT 37w fSafb T SIRENGIT v sifde:
Vv U-238 (»5.29%) — afb SI®E @1 T mer |

vV U-235 (0.93%) — a6 [HSFAR fAeneE T137e 23|

vV U-234 (0.0¢%) — afG 33 5 AT T1877 I |

» AegaEa [ReEe:

o 0.¢% (X) > YT
o U.9% (X)— g

o 5.9% ([4) — 53, F1Fer U-238 S stfsmer &

135. SIITSHE FT 4T@F ©FF 5Y[& FIF FAT 7?2

O @GR
O AT
O (@062 9%
O IEARASAGH

Answer and Explanation:

4 I8 Tad: IERISIE06H

* JIRAT

O IAARIHAGIOH 2T SIAFE AT $ ZY(ET T, (T FFITOE T2 FE 516 B3
AT, AT 8 I F97 2T |

» Aegarma [ReEe:

FATEBH (X)) — a6 NIRRT IEEES (So THFe
FEAERHRE (M) — aft arfas sfFmm =iFe
@R 77 (X) —

IARTHAEOH (1) — 0=, F17 aft S ox ayfET @

136. STV (TORF SRAT FISF TG1I?



Answer and Explanation:

(74 3% Taq: TG A&

o A

4 ST (TSRS ©IRATT FHTTe FIef N3G (Aceria tosichella) T R&He 27|
Va6 s, A 8 T T AFS FE|

» AegaEa [ReEe:

o T (X) — SRAT TN I7ET GhIFT (73

Fre™ (X) — ISR AEIE RO 1

M (X) — g

M2 () — 5%, F1Re MRG 92 SRAN RF e FE

137. af5afS tofF = fawa FEG?

1 Red blood corpuscle
] Thrombocyte

1 Monocyte

L] B Lymphocyte

Answer and Explanation:
(74 sifd% Tea: B %3G (B Lymphocyte)

* I

<~ B fCHIIRE (B-Cell) 3ET (6 &34, 1 Af6aE S 97 I 932 TRET @197 AS@E I

FE|
EET-RIGIGARIERLR

Red blood corpuscle ()) — aft aIfFGET 329 &
Thrombocyte (X)) — aft F& SG I T2 FEF
Monocyte (){) — aft HETTRBNCIE MERE (@157 ASEY FE
B Lymphocyte ([74) — 53, F15+ aft af5afe T g @

138. IS NIIT IHEE] AN @F10
O a2 (Glycine)



O (f9 (Serine)
O 6 (Cystine)
O syfers (Valine) v/

Answer and Explanation:

(Y4 5o Toa: eifer (Valine)

¢ AT

< ISR IRE AT R A3 SHRET A5G, I7 XA @ tofd Fa00 I ], I8 W
STETE SR F0 27|

vV SN (Valine) 956 Sy ST STRRET AT |
» [APISEN fHEEe:

R (X)) — aft e ndiE 5
oifae (X)) — aft Ty nIT 9%
556w (M) — aft STer T a7
syt ([Y4) — 3%, 1= aft e iHT ayRET AfTS

139. MPfeF ENfdF I FIG?

O xf%
O oft
O «f6
O sf6

Answer and Explanation:
"4 sifd% Taa: sft

¢ JIAT

& a3pfete SAfb G T I@R, I N TR (S0 G [V 1F FE|

v/ ¥ 39 (Gravitational Force) — aft & I¥@F NFFT FF|

vV ©f63<519F 39 (Electromagnetic Force) — af 516 F1E JE&T F18 & |

V/ 13 {1 SfF31F 39 (Strong Nuclear Force) — aft &g [HSFINE 930 & J0 |
vV 73 f4S{F1= 37 (Weak Nuclear Force) — af6 (361 @& &l w3 |

EET-RIGIGARIERLE

o 3f5(X) - g
o oft(X)—gT
° q%(X)—)@



o 35 ([4) — sifds

140. (1S ST (BT (19 H9ET (RS IR F(E?

[ Ultra-violet
L] Visible

U X-ray

O Infrared

Answer and Explanation:
(74 3% Taa: 3AHIES (Infrared)

MG NENE

<~ James Webb Space Telescope (JWST) 2 I15d SF© N2IFT (GIECH, I 2AHNES 0T
T FRATT @ FE|

V aft 7aTe! snenf3, 7% 432 35737 (Black Hole) @S FA© TH|
SRREE-RIGIEAEEERE

Ultra-violet (){) — aft xa (Gfecs1s (I T79218 3@
Visible (){) — aft sTrenger Srafoie (Gfeesnsra sl

X-ray ()X) — afb ta1 9573 G T2 FE

Infrared ([4) — 53, 1 JWST 39H1&@S IR T |

141, (PG ST TNHNF T2 FRE fFE@oar 97 27 71?

O 533
O e
O &7

EEL\
Answer and Explanation:

(Y 5% Tea: =

MG NENE
& TR &G (NferF J 2EM — 1 (Red), ¥ (Green), Fi (Blue)
vV =4 (Yellow) i3 a2 9, 92 Af6 7 8 93 A& e tofs 27|



» AegarEma Ko

53 () — aff e =
T ([4) — aft ol =2
a1 ([4) — aft s =2
7 () — ', F1F9 a6 (Ner 7

142. T& SH6 IEFT T TS GBI 24-

] Vitamin A
] Vitamin B
] Vitamin C
1] Vitamin K

Answer and Explanation:

[ w55 Te=: febifsa K

* AT

< fSBIRT K F@ (FISET (Coagulation) 31 SENG IR Siely SFT |
vV aft (NERT 99 (o (ofFe TR F@E, I 6 I FI© RIS |

» [AFgaEng [Rega:

Vitamin A (){) — aft &1 5o g 7f

Vitamin B ()) — aft &SI @7 sE T2 3@
Vitamin C (){) — aft @157 afe@ Fre1 I

Vitamin K ([4) — 3%, 313 aft 7% 916 I/ S5 vaF 9

143. (69 7Ife 'E' 97 TRIFII 79-

O h/
[ c/h
[1ch
[ he/A

Answer and Explanation:

74 ~1f5% Taa: E = he/A



¢ JIAT

4 A @ AT (WIod S [Aefma ST
v E=hc/A

vV 2T,

E = (%154 *Ife

h = ZT® 3% (6.626 x 1073 J-s)
¢ = ITF 51w (3.0 x 10° m/s)

A = GRS

» AegarEna [Ree:

c/h (X) — @'
ch (X) - g
he/A ((4) — 55

144 T3 TS fFoIT TG AT F@E-

0 3sf
0 9157
O cafer
O =oife

Answer and Explanation:
Y4 5i5< Taa: 5o (Species)

MG HENE

& FEIfF T 9o SRiT [Fee:
V' T IR — ST (Genus)

V &8I a7 — F5fe (Species)

BT RIGIGREERRR

35f (M) — aft serT 8o1F aF &Y

5% (X)) — aft TIEE 28 cfafem

cfa (X)) — afb srer 8 Fosfa ey TS
sofe ([74) — 3%, F1a9 af Ao fFery o



[anI el

145, §Ted FIEEGT Y Ao &FfmTg T3y 23-

O s

O =

O FET TRIAFRS
O 38N

Answer and Explanation:
V4 13 Tad: TASE (T3, e, FIHT TRAFRG)

MG NENE

<r 4169 FIETEG (Metal Carbonate) 8 MG A
V CaCO:; + 2HCI — CaCl. + CO. + H:0

Vv S35 2

e @3 (CaCl.)
e A (H.0)
o FII TRIHRG (CO:)

146. Windows I*E@5: ey Iifdwe f[a@s @ oi(T J9F?

O aft Mfe i ar@Efe: oo

[ aft Open source ar=T@&EG: SCEN
O (IR 5Tey 77

O F 992 ¥ TeI3 ey

Answer and Explanation:
Y4 5% Saa: aft M6 Biftee armafts Seew

* AT
<~ Windows 330 SI*6-51%: S N&E(B: SCEH, T AFEF (A IFHIE G T |
v/ aft Open Source 53, F18 Microsoft af6 Afr 3@

147. [T @16 FEISEIE (AT ROTE Towd?

1 RAM
] Hard Disk
1 ROM



L] Register

Answer and Explanation:
(Y4 wfd= Toa: (@fEeb1a (Register)

* T
~ CPU~® T19%% (FSP01F T TG TSR (e |

» AegaEng [ReEe:

RAM (X) — Stzsife

Hard Disk ()X) — S36E §iF

ROM (X) — B1a TOIF Sfy

Register ([4) — 50, 15+ aft 6T wo

148. TR (116 FPSEIF HCCEE FIHFOI (FIT GIFPT AT 1?2

[ Size of Ram

1 Size of Cache Memory
[ Size Register

[ Size of Rom

Answer and Explanation:
(74 5i3< Taa: ROM a9 IFT (Size of ROM)

o AT
~ ROM (Read-Only Memory) FFISHIER 51 IS a1, Af6 BN F1:T (So1 RIHT FF |

149. [T (FAb FBIT AT (38)% AT T IRANT F7?

O (111 101)2
O (010 100)2
[ (101 010)2
J (010 100)2

Answer and Explanation:

V4 ~1f5 Taa: (010 100).



* I
TRV (A ARANS FEH:
v 2=010

v/ 8=100

Vv (28): = (010 100).

150. a6 TG0 CEHH aF9a @ e Symbol, icon S1ET
Visual Metaphor 98 STERGT FP5ISHIES M SRETST M FE S
M @ | [T @FEG 9 @fTg FH@E FTEmT SFE@?

[J Command-Line Interface
L1 Block User Interface

L] Tap User Interface

L1 Graphical User Interface v/

Answer and Explanation:
{74 5If3% Taa: Graphical User Interface

¢ IR
& GUI TTIFFTAIGH foa, SRF 3 (Ne[d M FPASCIF SHRETTATH SJTT (77|

151. faa @16 (A3’ FFniaE sf5s?

O aft Interpreter-a7 (6@ WeIe FACS (T FHT AT
O aft afe MR (A1 I@ NS AT oA S

O (J6af6 GIFE (SN G (N F961 &

O aft 9330 &7 (1 SeEw FE

Answer and Explanation:

v 3% Tea: aft AFAE TET (N AW FE

* IR
r F™R1E (Compiler) 3% (AR SATE T (FTSE AFIAE AI™ FE TP ST |
v FRANEF (@85

o aff Y& O (FTOE AT e[ FH|
o ITIHEDIET Q¥ wesliore (AT G|




» AegarEma Ko

e Interpreter-19 (6@ I FA0 (I 57T AT (X)) — FHNRAEF IFING SNe[qm T To
361
o TR 1@ 3 (XK) — a6 TorREtEe &)
IR (@ G (S F5168 & (X) — aft ST, FIFT FMRAR O (FIGE (N
FG FIBT FE|

o AFAE AT (NN AW FF () — =

152. T (@6 I BHGAT 6w w9372

1 Facebook
L1 Twitter
[ Instagram
1 Google

Answer and Explanation:
v Sf9% Taa: Google

* I

< OTPTSTT RS 2% ZET AN AFT N (TN FIZTFINE] O SIS 8 (TSNS FA©
A |

v (&P, RO, FAOII — SfEF (I Hie3T|

v Google 3% 516 23, aft crme fBifem 73

» Aegarma [ReEe:

Facebook ([%4) — G e
Twitter ((4) — T (i3
Instagram ([%4) — G farfeam
Google (X)) — aft 6 3z

153. Cellular Data Network 97 (@ GPRS Fet® 3 (FAT?

[ Global Positioning Radio Service
[1 General Positioning Radio Service
[] Global Packet Radio Service

L1 General Packet Radio Service



Answer and Explanation:
v Sf9% Tad: General Packet Radio Service

o oA
¢~ GPRS 2T X.¢G GNRRT (G6T Z3fe, I IBIAE0 AT FII91R FE |

R EERIGICRRIERRR

Global Positioning Radio Service ()X) — o
General Positioning Radio Service () — Sul
Global Packet Radio Service () — 9T
General Packet Radio Service ([4) — NI

154, RE@T NFFT (A TR©6 @68TF TH [AET @t Taze
?

L] Antivirus

L1 Digital Signature
[J Emyption

I Firewall

Answer and Explanation:

v 5% Sag: Firewall

* FIA:
<~ ZRESTF (Firewall) XETT YFHT B3, I M SNHN (@ (@63 TH FE|

EET-RIGIGREIERGH

Antivirus ()) — aft BRI @18 FF|
Digital Signature (X)) — aft =367 TER G|

Encryption (){) — af &% saf¥e A
Firewall ((4) — 53

155. f906T @0 N6 23T 797?

] Bing
1 Google



] Yahoo
1 Safari

Answer and Explanation:

v Sf5F Taa: Safari

* I
</ Safari 936 3@F FOHF, At N6 33T 737
v Google, Bing, Yahoo — S&f3¥ Wit 33|

» AegarEna [Ree:

Bing ([4) — =6 3faa
Google ([74) — 6 23
Yahoo ([%4) — 6 3f3a
Safari () — 3@I TTCHF

156. 3GIEEDG S51@ hyper-linked document STE FTAFTAE It
q(T?

O HTML

L] Email

L] DWS
0 Www

Answer and Explanation:
v 3% Saa: WWW

* AT
<~ World Wide Web (WWW) T RTIREGR A6 97, (T IRMNATFCE SHEIG AT |

» AegaEng [ReEe:

HTML (XX) — aft ST tofdg &A1

Email (){) — aft 2ESERE 6T (IR M|
DWS (X) — aft =fafee @1en s3fe a7
WWW ([2) — sif3=



157. SRS GifRur s34, 2SiG-fefes #R1S: Afamar swraa
&fs (P19 5@ Distributed Computing 95 A% 58187

L] Remote Sensing
[ Remote Invocation
[ Private Computing
[ Cloud Computing

Answer and Explanation:
v 9% Sad: Cloud Computing

¢ AT
<~ Cloud Computing 2T Distributed Computing-15 %6 818, I IRF@F 2066-f6f3F
1S5 A a FE|

158. fAa (F (o3I NI (¥ SIS I 37?2

UJ LAN
U MAN
0J PAN
L WAN

Answer and Explanation:
v 5% Saa: WAN

o A
~ Wide Area Network (WAN) 325 SENTF 13T [0 (@681 |

159. {9 (F197 #3f& Face Recognition System - 95 FXTF SRS
AT H(I?

O @1enfed a3
L1 Applied 10T
U] Virtual Reality
1 Applied Al

Answer and Explanation:



v 3% Taa: Applied Al

¢ AT
<~ Artificial Intelligence (Al) 53219 & Face Recognition STHN FXFT FaT 27|

160. (F5SITF FHHT (5 (IR 'mbps’ 97 o5 -

1 Megabytes per second
1 Milibits per Second

O (FTefeg o7

L] Megabits per second

Answer and Explanation:

v 9% Sad: Megabits per second

161. fEF (FW SR 2/3 2@ 5?2

[J 33/50
L] Tue Mar 05 2024 14:00:00 GMT+0600 (Bangladesh Standard Time)
0 13/27
1 Sun Aug 11 2024 13:00:00 GMT+0600 (Bangladesh Standard Time)

Answer and Explanation:

v 5T Taa: we/¢o

¢ AT

& 2fG SRR QT FA0© .18, Tafe IR FA0© MiE:
vV /o =3x o /9 X ¢o=5o00/5¢o

v ©9/to =Y X /[ o X = H/S¢o

v (TR 00/5¢0 > D/5¢o, ©1F we/to < 3/

162. AT ¢% T JAHF 8oo BIFIF X TREF 5% HINA F©7?

] 880 BIFT
J 88¢ BT
O 8¢o GIFT



[J 88\ BIFT

Answer and Explanation:
v 3% T3 88 BIFT

¢ AT

v C=P(1+r/100)"

v =800 (b + @/500)?

v =800 X (bo@/S00) % (Sod/Soo)
v =885 BRI

163. Soo (@ TE 26 FefTATH (FSTHT woo R(T, [T [RBF Se~Te
$O7

R
[]x:¢@
O e:¢
X

Answer and Explanation:

v 5% TaF: 21w

* AT

< 1fb 3T 2x 8 3x |
v 2x + 3x =300

v 5x = 300

v x=60

v ST 726 S0 8 Sbo

W O FTe: 210

164. x2-7x+12<0 97 A (Nb-

U (-00,3
0 (3,4)
U (4,0)
0 [3,4]



Answer and Explanation:
v 9% Tad: [3,4]

o ERAT:
dex2-TX + 12 = 0 TN FEF T3;
v (x-3)(x-4)<0

o ©1RE, x 97 N [3,4]

165. X2+y?+z%=2, xy+yz+zx=1 (@, (X+2y)*+(y+2z)*+ (z+2x)? a5
-

0112
0119
116
14

Answer and Explanation:

4 SO X2+ y? + 22 = 2, Xy + yz + zx = 1 T, (X+2y)>+(y+22)>+(z+2x)? 95 A $67?
v SIf3% Tad: 18

¢ YR
O (x+2y)? + (y+2z)* + (z+2x)?

v =5(x?+ y? + z?) + 4(xy + yz + zx)
vV =52)+4(1)=10+4 =18

166. 3x-y-3, 5x+y=21 2 (X,y) a9 JT-

Answer and Explanation:
v 5% Tad: (©,0)

o A
vV STHA FE MR Xx=3,y=6



167. 1/2x2x-3 +1=5 X[ x 47 J[q F©0?

L3
14
s
L6

Answer and Explanation:

2M1*20x-3 +1 =5
2°x-4 =4

2/x-4 = 272

x-4 =2

x=6

168.log V8 .x =3 1/3 3 x a7 A F&?

s
03
s
132

Answer and Explanation:

log V8 .x=10/3
V8.10/3 = x
8M/2 10/3 =x
8" 5/3 =x

273 5/3 =x
2h5 = x

x= 32

169. S ’5(@3'\55000 A9 JET PO HYTT &R JT9T SO 71971 |5I\‘9I<’>ﬁ$
77 & wo 71FT fFe™N?

(]33
035
L] 37
041



Answer and Explanation:

4 ~if8 Taa: 3

* T
- A S (A@ Sooo AT NET AN AT ST FI0@ F, IT wo TET [Fey fFF L& 71AT o™y
J|

v T o TTAT SIS TATSET 454:

® Vo, Yo, DO, dRO, ..., DDO
e (G 52T = 1000 + 30 = 33

v AT9F wo AT Vb ToF T [Te™Y RS (IF FA9:

e LCM(30,16) = 240
® 80, 8%o0, 930, Yo
o (WG MAT=4

& BT, wo AT AT 7@ L& T1ET [TO™ 97 a5 225
v =33-4=29

(71 12 I3 Toq: OMF (MSIT IPTASET A& 3D (A2, BT S0P SRAT IET 35 |

170. 235 fTTTEa F31T ©Era Ty 2 (7 il 43 Ther b (3 i 2@,
SR ©asfTT GG (Fand F6°7

O S 35f (I3
O w1 I5f (T
O 8 Isf (I
O ey 35f (I

Answer and Explanation:

SAET Sfe
NfoE Fama =8/ Tr I h
8/9 T 8* Y = wxTT

171. @1 930 fagmd 236 (@ AfFaT 1vo 3 bro| fagafe
GICEBICEN
O sTefeaR Sar




O SR
O At
O ST

Answer and Explanation:
ST Sfe | fagEe fod FEa iR swo
BN 96 @ 3B+b3=v0 TRE IFAD Do IT FAFIA fags

172. 4 IS A=fIFE I5(@@a Af@fiRe Jed (Favd F97?

O 6 IS

O 4 Fsfefar

[ 242 1 It
O 8 1 IsfIf

Answer and Explanation:

AT, F5MEFaa Fof Jrad B AfF, Jrog I (BRGE
. I8 T b IFHAGIE 97 FfF Fof = 8/3 CTBRGIA
TN, M =8VR/R

==3\%
fefT (Famsa =R R *T =% T

173. CONIC 7=fod I3 @ fa@ sifdwe I w2 Fe7?

024
(] 40
060
L1120

Answer and Explanation:
CONIC a 8316 = ¢ b I fAATT a*8*v*3*s = S0

174. I A={x:x 21 5,7 AT Ao 992 x<150} 37 O  P(A) a9
O ST F9©7

s
112
014



116

Answer and Explanation:
€89 97 TAHIB 0, S¢o AT NEY vt T ey MAT 8 G, 1R 92 (G ST /0 = 378 = v

175. a6 ¥fete ¢ 6 Fie, 106 s, 2016 F1E 397 9= 99 53@S
MEIET 936 I QeI (B STa1 o7 28IF AT F97?

] wag So
] 949 So
1949 ¢
[1eagq

Answer and Explanation:
(6 I @ o, ™1 I T3TF TEIFAT bo/w¢= 3/9 AT T T3TF T/FAT b -3/9 =¢/9

176. A58 (T TIF-AFG i ¥ (@FF MR | G IEH FHE
»0° H(d, OIFTE FioF FI61F [77e @ Swo° | 93 1 F 933
fi AT D0° 1 AT OT (F1 T ¥ FF AMR?

O wfsfer

O wfsger-af3ee
0

O wifge-s

Answer and Explanation:

TS (T GoF-~IF6 @ ¥ (FF A= (7 ST FOE F »0° &, SFTE 6 I 7S
@ Svo® JE 9T STTF AF3 o ST vo° | A3 (F wfiyer-= i 33 I o=

177 [T THSET AFSHE (T HE AR (FO1F S Protect
Pragmatic Pastel Postal Pebble

] 8WERD
(] @w8a&NR
O] 8wEbR
] w@8xd

Answer and Explanation:

IR ST <T4(6 a (V@ z T[N 0T ©1F IR (HRIT ST 0 ess 27



178. 235 RA(® 9F0 TFEF WF Hiftie FE IFo Jel I, "OIF
SREF AT AT TIF AFNF (RE | " =T T0F 1?2

R
01 ey
0l e
O @

Answer and Explanation:
236 =fJe Ao JFEF [F Hvre FE TS AR I, "SI SRFF TR AT 70 IFHT
(| " =T T 26 (@

179. IfW E =10, J-20, O-30 938 T-40 3T, @121 B+E+S+T="?

O ay
O wx
1 do
SN

Answer and Explanation:
RN (W7 AR I E =10, J-20, O-30 33 T-40, (@A Jf6f R@S I ©F W@ G387 o)
B+E+S+T= 8+%0+9b+80=>3

180. [A®T @1 =T ANB@F (AF A2

O Kiwi

] Emu
] Ostrich
L1 Eagle

Answer and Explanation:

Eagle ,=¥ I SGw® = IMFSEN TS = A

181. AFSH A2 e, "SI I AN AT ITNE OCb (7
ST O AT NG IIA AT FE | ol S (3@ FICT IS 93
T IICTF SR AW NG IICTF (FSHEF 25T SI6F
AFeIsT|" IRAT IIN F©7

[]X9e %7
[] w8 2T




O (FIEAT62 9%
[] 8¢ =T

Answer and Explanation:
8¢ (F TFE X @8 AT MYF ¢8-8¢=> AT (TSTHT ¢8+8¢=>
/> =85S TT %G TS T BT 7

182. M aFC Fr (A fagfifie 8ft 3T Iqoiiie ong fae
FH1 2, ©F (FA0 FIEF (@ 97 OG IE?

[] BCS46_1.PNG
[1 BCS46_2.PNG
[] BCS46_3.PNG
[] BCS46_4.PNG

Answer and Explanation:

Aao WOP (Tt ST (NF Joio (T & I

183. aFIG T8IT L¢ T (A1F TE® AR ©IF] IFER o (TF A
IANET N FINIS FE | (6 FO6 FINIS T?

[ 3o
1 3¢
O Sy
[ Sot

Answer and Explanation:
FIANT FA© AT TF B3 5¢ C 3 = SE*$8/3=%0¢

184. (12 b 16« F&« T- Children:pediatrician’ G &y
TFIPe TTHB Aol A6 THE NHBHSIF T I |

1 Adult: Orthopedist

[ Kidney:Nephrologist

(1 Skin: Darm,atologist

L] Females: Gynecologistv’

Answer and Explanation:
Children:pediatrician 93T pediatrician I 3 F&1F S f5F Females: Gynecologisty’ (I
Gynecologist RTWE IHF ST TTHET



185. (1 fbafb MFSG =« FE? -> BCS46_5.PNG

[ BCS46_9.PNG
[ BCS46_7.PNG
(1 BCS46_8.PNG
[ BCS46_6.PNG

Answer and Explanation:
3T 8 6 foa fAeTer FaE (71 T1F o f5aft ate ST BCS46_6.PNG

186. @ @S foF &9 G INE? -> BCS46_10.PNG

] vo
0 858
O (FIETMBR 93
[ Sov

Answer and Explanation:
=03 fota (73 IF faged T2 ST SF FE (@5 FAE ANAT (5T o'k 3% (@ 7@ o vy*e+s3™8
=o'

187. SI9F I @116, fbFe Tl

] Consciencious
] Conscienctious
[ Consciencitious
] Conscientious

Answer and Explanation:
3% I CONSCIENTIOUS. a5 IRaT 37 Mg+, 8", fA@@ae| Synonym: diligent,

industrious, punctilious, painstaking,,sedulous, assiduous.

188. 936 I TFT 972 AR FAT IFT O ©:3 T 4T3
AT STRAT 3¢ e - TS T F©?

] et
[ 8o
[ 8¢
] wo

Answer and Explanation:
SO (TSI ST €X ,(FATE X =3¢ X =53¢ OIT TFF 90X =53.479=19.¢



189. Ubiquitous' =68 ST * (FIFIG (bFe FF|

[] Scarce

1 Abundant
I Limited

1 Widespread

Answer and Explanation:
ubiquitous(adjective) a3 T v ST | Synonym: worldwide,widespread, omnipresent,
everywhere. SITAW@, Scarce (J°ATT), Abundant(Z§d), Limited(if3re) |

190. AT66 HMNARMRF AT 5TG REN S ¢ FIGEE T TAT:27 F972

O Se
] o
13
] x8

Answer and Explanation:
66 HTATAIRF AT TG R SCOTRE BIUd (FHT SCE=9¢
OIRE FEy AT S ¢TI TGN T S¢+3=39

191. Animal Liberation' 5568 F5¥e] (F7?

] (ROSTeT
O 3%
O @
O P11 fSena v

Answer and Explanation:
v 5% Soa: o= g

* AT

/~ %1 51 $59¢ S "Animal Liberation: A New Ethics for Our Treatment of Animals”
EEIGISET

v afb 13 FIfEFE SereEs fofs RenE AEfte 23

v 32f60e "Speciesism" HTFE ST FH1 7, I A S FIAFTS SABAT (JRM0S 5970 2|



192. (FTa (i {37 AefFmrra ey AT ovge?

O Wfeder-faaems faar
O sTfSa fmar

O Fw1-fagems

O 2fees e

Answer and Explanation:
v 5% Toa: s fm

¢ IR
< Do faa = a5 (33 11 e fa@g 2w 8 fAEears fefem sema $@|
v SifefIm aft szesyf F1a Wiod JevRe Pfees (FI1= (Frag F@Toy 27|

193. IRATT 'F-AfoFOF TIT6F -

O (araw THPQHT
O fa.frea

O I3t ot

O SIS ! MR

Answer and Explanation:

v 0% Toa: SIFS Al MR

¢ AT

& SES A NQRA e IRMOCTH aF9 {338 wrffass 8 foafawl

v o Ifeam 8 MaseRm Rt e a3 3f 8 STe o1& o QT |
v TR-AfeFel AT T61E SiF 32 SoTd TH SFFI ST A |

194. fES (MG SPIES JeTaiie?

O Fegamt e

O @Farge ez
O 35 Fife 3 THfox
0 T%er 8 SaEwiRer



Answer and Explanation:
v 3% Tod: Tl 8 SRR

¢ IR

& SPTER JEalfS:

v IR9[ (Transparency)

v Sd1afufze] (Accountability)
v SRR (Participation)

v I3@E T4 (Rule of Law)

# Fogam M (X), Farge Famsze ()) 8 Tadfe (X) SPTHER Jfe 77|

195.” Fe[H 28 432 MF J61"- aft F1F Sfe?

O caer
O f&2ya
O 91t
O @

Answer and Explanation:
v SfP% Tad: @I

o AT
< (srHsf fSeTEd fSfaT (26T (Georg Wilhelm Friedrich Hegel) f&@e ssfier wrffass |

v fof¥ amfait wiag aaes s3e 7|
v ©iF 7q 51f%F T&fed (Dialectics) $77 ffs F@ ¥

196. ITIT BHGIT (F 1 JfoN F© S =T 2J?

[ 2050
] 305
[0 08P
12012

Answer and Explanation:

v Nf5F TaF: 2053
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o SPI ST
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197. “7e 30 &5 3 AT N&To! 9F AAEFS I+ "- Sf&H &
FEARA?

O 9. 7. ¢o1fF
mEeQ]

O m.f.ac

0 &S T

Answer and Explanation:

v 3% ToF: IS T

MG HENE

<~ JEG FIT (Bertrand Russell) f@Te REEeas w@d ardes ga41e ftaifaw|

v fofa v, sifie 8 JfefTeanea Toia F18 FEE|

v 22 SfSH a1 fofd (IS (6@@d (I o d a9 aFf6 (%7 (@ 079 791w 8 fFeees (e fifers
LR

198. ST BTRIG JEF S7F fToTeT-98 ANSNS (FTa F3 T &

O snfosma

B CERGERCERCEREIY
0O aff31 T3 T[IRF

O fgcs

Answer and Explanation:
v Sfo% Ted: [aams

o A
r Y000 NI RAAFIRF (@R FE@ (F SPI b1Af6 [ I®F S [6f3 F& 1T 86



v wifgATel (Accountability)
v I%9[ (Transparency)

v I2EF TS (Rule of Law)
v SRR (Participation)

199. {97 @6 'SMART Bangladesh' a8 SoW«?

1 Smart Democracy
1 Smart Politics
] Smart Parliament
1 Smart Society

Answer and Explanation:
v 5% Tad: Smart Society

¢ JIAT

/~ SMART Bangladesh-13 3 57&f 38:
v Smart Citizen

v Smart Economy

v Smart Government

v Smart Society

& Smart Democracy (){), Smart Politics (){), Smart Parliament (){) 98@ Smart
Bangladesh-19 9> 93|

200.” Republic' 368 F6f¥eT (F7?

O @
O & F

O 3oy
O (awr

Answer and Explanation:
v 3% T3 (AHT

MG HENE
<~ "The Republic" 5=t faF wr o (awmF @l
v aft 18, WRARFEIT 8 AW TAEF STl fFF (247 7@ ®|
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v a2 F3(6 fofd "arifers 7" (Philosopher King) S5 SwT $& |
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	1. বাংলা ভাষায় কোন স্বরধ্বনি উচ্চারণকালে জিহ্বা উচ্চ অবস্থানে থাকে? 
	2. বাংলা শব্দ ভাণ্ডারে অনার্য জাতির ব্যবহৃত শব্দ - 
	3. ‘ধ্বনিবিজ্ঞান ও বাংলা ধ্বনিতত্ত্ব' গ্রন্থের রচয়িতা - 
	4. বাংলা বর্ণমালায় যৌগিক স্বর কয়টি? 
	5. যোগরুঢ় শব্দ কোনটি 
	6. উপসর্গযুক্ত শব্দ - 
	7. বিভক্তিযুক্ত শব্দ কোনটি? 
	8. কোনটি প্রত্যয়-সাধিত শব্দ? 
	9. ‘শিরশ্ছেদ' শব্দের সন্ধিবিচ্ছেদ - 
	10. ‘নীলকর' কোন সমাসের দৃষ্টান্ত? 
	11. ‘pedagogy' শব্দের পরিভাষা- 
	12. ‘বঙ্কিম' এর বিপরীত শব্দ কোনটি? 
	13. বাংলা একাডেমীর 'প্রমিত বাংলা বানানের নিয়ম' কত সালে প্রণীত হয়? 
	14. কোন বানানটি শুদ্ধ? 
	15. ‘নদী'-র সমার্থ কোনটি? 
	16. চর্যাপদের কবিরা ছিলেন- 
	17.’ শূন্যপুরাণের' রচয়িতা- 
	18. বাংলা সাহিত্যের ইতিহাসের কাঁকিল্যা গ্রাম কেন উল্লেখযোগ্য? 
	20. আলাওল কোন শতাব্দীর কবি? 
	21. কোন বাংলা গানকে ইউনেস্কো Heritage of Humanity অভিদায় ভূষিত করেছে? 
	22. চন্ডীচরণ মুন্সী কে? 
	23. ‘রত্নপরীক্ষা' গ্রন্থের রচয়িতা- 
	24. স্বর্ণকুমারী দেবীর পিতার নাম 
	25. ভীষ্মদেব খোশনবীশ বঙ্কিমচন্দ্র চট্টোপাধ্যায়ের কোন গ্রন্থের চরিত্র? 
	26. দীনবন্ধু মিত্রের 'নীলদর্পণ' নাটকের ইংরেজি অনুবাদক- 
	27. রঞ্জন চরিত্রটি রবীন্দ্রনাথ ঠাকুরের কোন নাটকের? 
	28.’তৈল' প্রবন্ধটি লিখেছেন- 
	29. “নাম রেখেছি কোমল গান্ধার" কাব্যের রচয়িতা- 
	30. ও মন রমজানের ঐ রোজার শেষে এলো খুশির ঈদ' গানটির রচয়িতা- 
	31. শামসুর রাহমানের রচিত উপন্যাস- 
	32. সেলিম আল দীনের নাটকে অনুসৃত শিল্পতত্ত্ব- 
	33. ‘পৃথক পালঙ্ক' কাব্যগ্রন্থের কবি- 
	34. কোন গল্পকারের গল্পে ম্যাজিক রিয়েলিজমের প্রতিফলন ঘটেছে? 
	35. "একুশ মানে মাথা নত না করা"-এই আমার পঙ্ক্তির রচয়িতা- 
	36. Which of the following words can be used as a verb? 
	37. In which sentence like used as a preposition? 
	38. He died following the incident. 
	39. Writing a diary is a very good practice to develop writing skill. The underlined part is a/an - 
	40. Fill in the blank with the correct word:___ he lay on the ground groaning. 
	 Find out the meaning of the following phrase:​​41."By and large" means? 
	42. Choose the best alternative for the underlined. He went back on his promise of voting for me 
	43.’Let the cat out of the bag' means - 
	44. He is a man to depend on. 
	45. His dream that he will be a B.C.S cadre finally came true. The underlined part is  
	46. Which of the following is a correct simple sentence? 
	47. Which is the correct complex form of the sentence? 'A corrupt man cannot win the respect of others/' 
	48. Find out the correct positive form of the sentence 'Who else is the better player than Zaman in the team'? 
	49. Fill in the blank with the correct word: The submarine dipped to avoid___ by the enemy plane. 
	50. In fear of he escaped elsewhere: 
	51. I didn't follow them. It - Shajib. 
	52. Samim is my colleague. I __ him for ten years. 
	53. The snow swirls___ the valley 
	54. There is a coffee shop___the street 
	55. Identify the correct sentences: 
	56. Identify the correct sentences: 
	57. Identify the correct sentences: 
	58. Identify the correct sentences: 
	59. The antonym of 'boisterous' 
	60. ‘Plagiarism' means 
	61. The two cities in A Tale of Two Cities are - 
	62. The line 'Frailty, thou name is woman' occurs in Shakespeare's play  
	63. Who of the following compiled an English Dictionary? 
	64. Which is not a poetry form? 
	65. I am a man more sinned against than sinning' This is uttered by - 
	66. Which event influenced the literature of the Romantic period? 
	67. The author of A Farewell to Arms is  
	68. Who is the most famous satirist in English literature? 
	69. Which period is known as "The Golden Age of English Literature"? 
	70. Which novel is written by an Indian novelist? 
	71. পাহাড়পুরের 'সোমপুর মহাবিহার’ বাংলার কোন শাসন আমলের স্থাপত্য কীর্তির নিদর্শন? 
	72. মুজিবনগর সরকারের গার্ড অব অনার নেতৃত্ব দেন কে? 
	73. ঐতিহাসিক ৬-দফা দাবিতে কোন দু'টি বিষয় কেন্দ্রিয় সরকারের হাতে রাখার প্রস্তাব ছিল? 
	74. বাংলার প্রাচীন জনপথ হরিকেল- এর বর্তমান নাম কী? 
	75. বাংলাদেশের কোন বিভাগে জনসংখ্যার ঘনত্ব সবচেয়ে কম? 
	76. ট্রেডিং কর্পোরেশন অব বাংলাদেশ কোন মন্ত্রণালয়ের আওতাভুক্ত? 
	77. বাংলাদেশ সরকার কোন উৎস থেকে সর্বোচ্চ রাজস্ব আয় করে? 
	78. মারমাদের সবচেয়ে বড় উৎসবের নাম কী? 
	79. বিশ্বকাপ ক্রিকেট ২০২৩ এ বাংলাদেশের কোন খেলোয়াড় সর্বোচ্চ রান করেন? 
	80. বাংলাদেশের পররাষ্ট্র নীতি সংক্রান্ত নির্দেশনা সংবিধানের কত অনুচ্ছেদে উল্লেখ্য করা হয়েছে? 
	81. মাতৃপ্রধান পরিবার ব্যবস্থার প্রচলন কোন জাতীসত্ত্বায় রয়েছে? 
	82. অ্যার্টনি জেনারেল রাষ্ট্রের কোন অংশের কর্মকর্তা? 
	83. বাংলাদেশেরে কোন নদী কার্পজাতীয় মাছের রেণুর প্রধান উৎস? 
	84. ব-দ্বীপ পরিকল্পনা ২১০০- এ কয়টি ভৌগোলিক হটস্পট নির্ধারণ করা হয়েছে? 
	85. বাংলাদেশের সংবিধান প্রণয়ন কমিটির একমাত্র নারী সদস্য কে ছিলেন? 
	86. কৃষ্ণগহ্বর নিয়ে কোন বাঙালি বিজ্ঞানী গবেষণা করেছেন 
	87. কোন ক্ষেত্রে অবদানের জন্য প্রধানমন্ত্রী শেখ হাসিনা ২০১৬ সালে প্লানেট ৫০-৫০ চ্যাম্পিয়ন পদক পান? 
	88. বাংলাদেশের ২য় প্রেক্ষিত পরিকল্পনার মেয়াদ কবে শেষ হবে? 
	89. ২০২২-২৩ অর্থবছরে বাংলাদেশ কোন দেশ থেকে পণ্য রপ্তানি বাবদ সবচেয়ে বেশি আয় করেছে? 
	90. বাংলাদেশের নবীনতম নদী কোনটি? 
	91. মুজিব একটি জাতির রূপকার চলচ্চিত্রের পরিচালক কে 
	92. বঙ্গবন্ধু শেখ মুজিবুর রহমান জাতিসংঘের সাধারণ পরিষদে ১৯৭৪ সালের কোন মাসে বাংলায় বক্তৃতা দেন? 
	93. The Foreshadowing of Bangladesh গবেষণা গ্রন্থটির লেখক কে? 
	94. বাংলাদেশের প্রথম রাষ্ট্রপতি কে? 
	95. দ্বাদশ জাতীয় সংসদ নির্বাজনে ভোটার উপস্থিতির হা কত শতাংশ ছিল? 
	96. বাংলাদেশ সংবিধানের কত নম্বর অনুচ্ছেদ অনুযায়ী রাষ্ট্রপতি প্রধান বিচারপতি নিয়োগ দেন? 
	97. ১৯৫৪ সালের নির্বাচনে যুক্তফ্রন্ট কতটি আসনে জয়লাভ করেছিল? 
	98. বাংলাদেশ সর্বাধিক জনশক্তি রপ্তানি করে কোন দেশ? 
	99. কতজন নারী ২০২৩ সালে বেগম রোকেয়া পদক পেয়েছেন? 
	100. বাংলাদেশ প্রথম ওয়ানডে এবং টেস্ট সিরিজ জয় করে কোন দেশের বিপক্ষে? 
	101. কোন দিনটি বিশ্ব শরণার্থী দিবস হিসেবে পালিত হয়? 
	102. জাতিসংঘ মাদক ও অপরাধ সংক্রান্ত সংস্থা UNODC-এর প্রধান কার্যালয় কোথায় অবস্থিত? 
	103. বাংলাদেশ ভারত স্থল সীমান্ত সম্পর্কিত প্রটোকলটি কত সালে স্বাক্ষরিত হয় 
	104. আলেপ্পো শহরটি কোন দেশে অবস্থিত? 
	105. উন্নয়নশীল দেশসমূহের বৈশ্বিক জোট 'জি৭৭' এর বর্তমান সদস্য সংখ্যা কত? 
	106. "২০৩০ সালের মধ্যে বিশ্বের দরিদ্র নারী, পুরুষ ও শিশুর সংখ্যা অর্ধেক নামিয়ে আনতে হবে"-এবিট টেকসই উন্নয়ন লক্ষমাত্রায় কোন অভীষ্ট লক্ষ্য? 
	107. বৈশ্বিক উন্নয়ন উন্নয়ন উদ্যোক্তা এর প্রস্তাবক হচ্ছে- 
	108. বাংলাদেশ কত সালে আন্তর্জাতিক শ্রম সংস্থার সদস্যপদ লাভ করে 
	109. বাংলাদেশের অভিবাসী নারী শ্রমিকদের সর্বাধিক গন্তব্যস্থল- 
	110. কপ ২৮ সম্মেলনটি কী সম্পর্কিত? 
	111. বৈশ্বিক সন্ত্রাসবাদ সূচক ২০২৩ অনুযায়ী কোন দেশটি সবচেয়ে বেশি সন্ত্রাসবাদের ঝুঁকির মধ্যে? 
	112. বৈশিক শান্তিসূচক ২০২৩ অনুযায়ী বিশ্বের সবচেয়ে শান্তিপূর্ণ দেশ হলো 
	113. বার বিধি' (The Twelve Tables) কী? 
	114. সিয়াচেন হিমবার (Siachen Glacier)  মধ্যে অবস্থিত? কোন দুইটি দেশের 
	115. টেকসই উন্নয়ন লক্ষ্যমাত্রার (SDG) চতুর্থ লক্ষ্যমাত্রা কোনটি? 
	116. জৈব নিরাপত্তা বিষয়ক (Biosafety to the Convention on Biological Diversity) হচ্ছে- 
	117. Friday For Future কোন ধরনের আন্দোলন 
	118. আন্তর্জাতিক আদালতের International Court of Justice) সভাপতির মেয়াদ কত বৎসর? 
	119. উত্তর আটলান্টিক চুক্তির কত নম্বর ধারায় যৌথ নিরাপত্তার ধারণাটির ব্যক্ত হয়েছে? 
	120. আন্তর্জাতিক সম্পর্কের কোন তত্ত্বটি আন্তর্জাতিক প্রতিষ্ঠানের কার্যকরী ভূমিকার বিষয়ে ইতিবাচক ধারণা প্রদান করে? 
	121. হিলি স্থল বন্দরটি বাংলাদেশের কোথায় অবস্থিত 
	122. ঢাকা থেকে পূর্ব দিকে অবস্থিত একটি স্থানের সাথে দ্রাগিমার পার্থক্য ৪৫০। ঢাকার সময় মধ্যাহ্ন ১২:০০ টা হলে ঐ স্থানটির স্থানীয় সময় হবে - 
	123. কোন দুটি প্রোটের সংযোগস্থল বরাবর মাউন্ট এভারেস্ট অবস্থিত? 
	124. উচ্চতা বৃদ্ধির সাথে ট্রপোমন্ডলে বায়ুর ক্রমহ্রাসমান তাপমাত্রা হল- 
	125. দুবাইয়ে অনুষ্ঠিত জাতিসংঘ জলবায়ু বিষয়ক সম্মেলনে (কপ-২৮) মূল ফোকাস ছিল 
	126. নিরক্ষীয় তল থেকে উত্তর মেরুর কৌণিক দূরত্ব বা উৎপনন্ন কোণ কত? 
	127. জাপানির শব্দ 'সুনামি' এর অর্থ কী? 
	128. বৈশ্বিক উষ্ণায়নের জন্য ঝুঁকিপূর্ণ নয় কোনটি? 
	129. বন্যা নিয়ন্ত্রণে সাধারণ ব্যবস্থাপনার অন্তর্ভূক্ত নয় কোনটি? 
	130. নিচের কোনটি কৃষি-আবহাওয়াজনিত আপন (Hazard)? 
	131. নিচের কোনটি গ্রীনহাউজ গ্যাস নয়? 
	132. জলীয় দ্রবণে PH এর সর্বোচ্চ মান কোনটি 
	133. কোন অর্গানেলটি পর্দা আবেষ্টিত থাকে না? 
	134. প্রাকৃতির ইউরোনিয়ামে শতকরা কতভাগ 238 আইসোটোপ থাকে? 
	135. জীববিজ্ঞানে কী ধরনের তথ্য প্রযুক্তি ব্যবহার করা হয়? 
	136. গমের মোজাইক ভাইরাস কীভাবে ছড়ায়? 
	137. এন্টিবড়ি তৈরি করে নিচের কোনটি? 
	138. অত্যাবশ্যকীয় অ্যামাইনো এসিড কোনটি 
	139. প্রাকৃতিক মৌলিক বল কয়টি? 
	140. জেমস্ ওয়েব টেলিস্কোপ কোন ধরনের রেডিয়েশন ব্যবহার করে? 
	141. কোনটি আলোর প্রাথমিক রং হিসেবে বিবেচনা করা হয় না? 
	142. রক্ত জমাট বাঁধার জন্য প্রয়োজনীয় ভিটামিনটি হল- 
	143. ফোটন শক্তি 'E' এর সমীকরণটি হল- 
	144. দ্বিপদ নামকরণে দ্বিতীয় নামটি নির্দেশ করে- 
	145. ধাতব কার্বোনেটের সাথে এসিডের বিক্রিয়ার উৎপন্ন হয়- 
	146. Windows অপারেটিং সিস্টেম সম্পর্কিত নিম্নের কোন তথ্যটি সঠিক? 
	147. নিচের কোনটি কম্পিউটার মেমোরি হিসেবে দ্রুততম? 
	148. নিচের কোনটি কম্পিউটার সিস্টেমের কার্মক্ষতায় কোনো ভূমিকা রাখে না? 
	149. নিচের কোনটি অক্টাল সংখ্যা (২৪)৮ এর সঠিক বাইনারি রূপ? 
	150. একটি অপারেটিং সিস্টেম একজন ব্যক্তিকে বিভিন Symbol, icon অথবা Visual Metaphor এর মাধ্যমে কম্পিউটারের মাথে সংযোগ স্থানে করে ভূমিক পালন করে। নিচের কোনটি এ শ্রেণির কাজকে নির্দেশ জকরে? 
	151. নিচের কোনটি বিবৃতিটি ককম্পাইলার সঠিক? 
	152. নিচের কোনটি সোস্যাল মিডিয়া প্লাটফর্ম নং? 
	153. Cellular Data Network এর ক্ষেত্রে GPRS বলতে কী বোঝায়? 
	154. বাহিরের আক্রমণ থেকে প্রাইভেট নেটওয়ার্ক রক্ষার্থে নিচের কোনটি ব্যবহৃত হয়? 
	155. নিচের কোনটি সার্চ ইঞ্জিন নয়? 
	156. ইন্টারনেট জগতে hyper-linked document গুলোর কালেকশনকে কী বলে? 
	157. গ্রাহকের চাহিদা অনুযায়ী, ইউটিলিটি-ভিত্তিক কম্পিউটিং পরিষেবা প্রদানের জন্য কোন প্রযুক্তি Distributed Computing এর একটি দৃষ্টান্ত? 
	158. নিচের কোন নেটওয়ার্কে সবচেয়ে বেশি জায়গা ব্যাপ্তি হয়? 
	159. নিচের কোন প্রযুক্তি Face Recognition System - এর সহায়ক ভূমিকা পালন করে? 
	160. নেটওয়ার্ক ট্রান্সমিশন রেট বোঝাতে 'mbps' এর পূর্ণরূপ - 
	161. নিচের কোন ভগ্নাংশটি 2/3 হতে বড়? 
	162. বার্ষিক ৫% হার মুনাফায় ৪০০ টাকার ২ বছরের চক্রবৃদ্ধি মূলধন কত? 
	163. ১০০ হতে বড় দুইটি পূর্ণসংখ্যার যোগফল ৩০০ হলে, সংখ্যা দুইটির অনুপাত কত? 
	164. x²-7x+12≤0 এর সমাধান সেট- 
	165. x²+y²+z²=2, xy+yz+zx=1 হলে, (x+2y)²+(y+2z)²+ (z+2x)² এর মান- 
	166. 3x-y-3, 5x+y=21 হলে (x,y) এর মান- 
	167. 1/2×2^x-3    +1=5 হলে x এর মান কত? 
	168. log √ 8 .x = 3   1/3 হলে x এর মান কত? 
	169. ১ হতে বড় ১০০০ এর মধ্যে কতগুলো সংখ্যা আছে যারা ১৬ দ্বারা। বিভাজ্য নয় কিন্তু ৩০ দ্বারা বিভাজ্য?  
	170. একটি সিলিন্ডারের বৃত্তীয় তলের ব্যাসার্ধ ২ সে মি এবং উচ্চতা ৬ সে মি হলে, উহার তলগুলির মোট ক্ষেত্রফল কত? 
	171. কোনো একটি ত্রিভুজের দুইটি কোণের পরিমাণ ২৮০ ও ৬২০। ত্রিভুজটি কোন ধরনের? 
	172. 4 সেমি বাহুবিশিষ্ট বর্গক্ষেত্রের পরিলিখিত বৃত্তের ক্ষেত্রফল কত? 
	173. CONIC শব্দটির অক্ষরগুলো নিয়ে গঠিত বিন্যাস সংখ্যা কত? 
	174. যদি A={x:x হলো 5,7 দ্বারা বিভাজ্য এবং x<150} হয় তবে P(A) এর সদস্য সংখ্যা কত? 
	175. একটি থলিতে ৫ টি নীল, 10টি সাদা, 20টি কালো বল আছে। দৈব চয়নের মাধ্যমে একটি বল তুললে সেটি সাদা না হওয়ার সম্ভাবনা কত? 
	176. একজন লোক উত্তর-পশ্চিম দিকে মুখ কেের আছে। সে ঘড়ির কাঁটার দিকে ৯০° ঘুরে, তারপরে ঘড়ির কাঁটার বিপরীত দিকে ১৮০° ঘুরে এবং তাপর একই দিক আরো ৯০° ঘুরে। এখন সে কোন দিকে মুখ করে আছে? 
	177. নিম্নের শব্দগুলো অভিধানে যে ক্রমে আছে সেভাবে সাজান; Protect Pragmatic Pastel Postal Pebble  
	178. একটি ছবিতে একজন পুরুষের দিকে ঈঙ্গিত করে একজন মহিলা বলেন, "তার ভাইয়ের বাবা আমার দাদার একমাত্র ছেলে।" ছবির সম্পর্ক কী? 
	179. যদি E =10, J-20, O-30 এবং T-40 হয়, তাহলে B+E+S+T=? 
	180. নিচের কোন শব্দটি অন্যদের থেকে আলাদা? 
	181. একজন মহিলা বলছেন, "আপনি যদি আমার নিজের বয়সকে উল্টে দেন তাহলে তা আমার স্বামীর বয়সকে নির্দেশ করে। তিনি আমার থেকে বয়সে বড় এবং আমাদের বয়সের পার্থক্য আমাদের মোট বয়সের যোগফলের এগারো ভাগের একভাগ।" মহিলার বয়স কত? 
	182. যদি একটি কামান থেকে নিম্নলিখিত ৪টি বস্তুকে অনুভূমিক ভাবে নিক্ষেপ করা হয়, তবে কোনটি সবচেয়ে বেশি দূরে উড়ে যাবে? 
	183. একটি সভায় ১৫ জন লোক রয়েছে এবং তারা সকলেই সভা শেষে একে অপরের সাথে করমর্দন করে। মোট কতটি করমর্দন হবে? 
	184. সেই জুটি নির্বাচন করুন যা- Children:pediatrician' জুটির মধ্যে প্রকাশিত সম্পর্কটির মতো একটি সম্পর্ককে সর্বোত্তমভাবে প্রকাশ করে। 
	185. কোন চিত্রটি সিরিজটি সম্পূর্ণ করে? -> BCS46_5.PNG 
	186. নিম্নের প্রশ্নবোধক চিহ্নে কোন সংখ্যাটি বসবে? -> BCS46_10.PNG  
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